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Which of the following is not an offshoot of Homosapiens?

1. White

2. Yellow
3. Black

4. Wheatish
(1) 1
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(3) 3

(4) 4
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What is the basis of Race?
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Which of the following is not a racial classification of Croeber?

. Caucasoid
. Mongoloid
. Malaysian
. Negro
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(3) 3
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Sl. No.4
QBID:170004

Which of the following is not a factor which determines race?

. Limer

. Density of skull
. Nosal Index

. Stature

(1) 1

(2) 2

3) 3

(4) 4
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QBID:170005

Which of the following is not an animal analogous to man?

. Monkey
. Gibbon
. Bear

. Gorilla

(1) 1

(2) 2

3) 3

(4) 4
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Which of the following does not come under the category of race?

1. Species
2. Race
3. Breed
4, Relation
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(3) 3
(4) 4
T S0l J wiF A5l AT 27

=
1%

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10421]
2[Option ID=10422]

3[Option ID=10423]
4[Option ID=10424]

Sl. No.7
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What are the characteristics of religion?

1. Social division

2. Prayer, Worship and Adoration
3. Create religious hatred

4. Destroy the virtues of humanity
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3) 3
(4) 4
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Sl. No.8
QBID:170008

Which of the following is not a kind of marriage?

1. Pashupati marriage
2. Monogamy

3. Polygamy

4. Polyandry
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4[Option ID=10432]
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QBID:170009

Which of the following is not a kind of family?

1. Polygamous family
2. Monogamous family
3. Patrilineal family
4. Fratrilineal family
1 1
(2) 2
3) 3
(4) 4
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Which of the following is not a kind of Totem?

1. Matrilineal Totem
2. Patrilineal Totem
3. Collective Totem
4. Individual Totem

(1) 1

(2) 2

3) 3

(4) 4
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QBID:170011

Asur belongs to which of the following races?

1. Proto Austroloid
2. Dravid

3. Aryan

4. None of these
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3[Option ID=10443]
4[Option ID=10444]

Sl. No.12
QBID:170012

What is the meaning of Birhor?

. People living in cities

. People living in villages/villages
. Forest dwellers

. Person living in solitude
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(1) 1
(2) 2
(3) 3
(4) 4




e

forER &1 @19 727 27

1. 120 T HATeHT
2. Tia 1 ATEHT
3. ST H & iqi:ﬁ

4. T Sa foamaren HeH
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=10445]
2[Option ID=10446]
3[Option ID=10447]
4[Option ID=10448]

Sl. No.13
QBID:170013

The categories of Nagada Instrument according to Dr. Gaunjhu are

1. Two
2. Three
3. Four
4, Five
1) 1
(2) 2
(3) 3
(4) 4
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QBID:170014

Kanya dowry in Souria Pahariya which is in the form of cash is known as?

. Bandi

. Khandi
. Pone

. Done
1) 1

(2) 2

3) 3

4) 4
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1[Option ID=10453]
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3[Option ID=10455]
4[Option ID=10456]

Sl. No.15
QBID:170015

Asuri language pertains to which of the following language family?

. Indo-European
. Austro-Asiatic
Aryan

. Dravidian
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QBID:170016

Which Khortha poet had said the then communist manifesto to be the Gita of *Age’?

1. Dr. AK. Jha

2. Shri Shivnath Pramanik

3. Shri Niwaspanuri

4. Vishwanath Dasoundhi Raj
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‘Ganga Utpatti’ is a work of which of the following Nagpuri poets?

. Hanuman Singh

. Baraju Ram

. Jay Govind Mishra
. Sobran Sai

(1) 1

(2) 2

3) 3

(4) 4
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Sl. No.18
QBID:170018

Which of the following literature has written “Kurmali Boli : Ek Bhasha Tattvik Adhyayan Shodh-Prabandh™?

1. Vishvanath Prasad
2. Dr. Sudhakar Jha Shashtri
3. Dr. Nandkishore Singh
4. Dr. HN. Singh
1 1
) 2
3) 3
4) 4
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QBID:170019

What 1s the name of the place the Swarnrekha river originates from?

. Satighat

. Nagadi Nala
. Hinu Nala

. Haramu Ghat
1) 1
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3[Option ID=10475]
4[Option ID=10476]
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QBID:170020

What is the definitive term for ‘Mrichkatik’ in Sanskrit Drama?

. Prakaran

. Vikramorvasiya

. Malvikagnimitra

. Abhigyanshakuntal
1 1

(2) 2

3) 3

(4) 4
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Which of the following Muslim Emperor of Bengal got Mahabharata translated in Bangla language?

. Kavindra Parameshwar
. Hussain Shah

. Nashrat Shah

. Paragal Khan

(1) 1

(2) 2

(3) 3

(4) 4
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Who wrote ‘Chaitanya Bhagwat™?

. Vrindavan Das

. Lochan Das

. Krishna Das Kaviraj
. Jayanand
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3) 3

(4) 4
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With which Assamese poet begins the Golden Age of Aszamese epic?

. Madhav Kandali
. Shankar Dev

. Chaitanya

. Ram Saraswati
(1) 1

(2) 2

(3) 3

(4) 4
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QBID:170024

Who rendered Assamese translation of ‘Ramayan’?

1. Madhav Kandali
2. Chaitanya
3. Bhatt dev
4. Rajeshwar Singh
(1) 1
(2) 2
3) 3
(4) 4
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Tagannath Das had translated which of the following seriptures in Odiya language?

1. Ramayan
2. Bhagwat Puran
3. Upanishad
4. Veda
(1) 1
(2) 2
3) 3
(4) 4
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Which Odiya Krishnabhakt poet is compared to Maithili poet Vidyapati and Bangla poet Chandidas?

. Brijnath Vadayen

. Fakir Mohan Senapati
. Gopal Krishna

. Krishna Das

1) 1

(2) 2

3) 3

(4) 4
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QBID:170027

Who was the guru of the famous Sufi poet Shiv Narayan?

1. Bulleshah
2. Dukhharan Das
3. Dadudayal
4. Maluk Das
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(3) 3

(4) 4

LIS EE@TF'TF %57

-

1.9g 1=
RACELURAL
3. QIGGAT
4, APaE
1) 1
) 2
(3) 3
(4) 4

(3]

1[Option ID=10505]
2[Option ID=10506]
3[Option ID=10507]
4[Option ID=10508]

Sl. No.28
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Who wrote ‘Akhiri Kalam™?

. Sheikh Mohidi
. Kutuban

. Jayasi

. Manjhan
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QBID:170029

Who has said for the first time that Khadiya language is a language of Agneya family?

. Dr. Griversson
. Dr. R.P. Sahu

. E.T. Dalton

. V. Ball

1) 1
2) 2
3) 3
(4) 4
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QBID:170030

When was the book ‘Khadiya Along” of W.G. Archer published?

1944 AD.
. 1948 A.D.
. 1946 A.D.
1942 AD.
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QBID:170031

In which of the following upanishadas, the 108 upanishadas are mentioned?

. Kathopanishad

. Altareya upanishad

. Chandogya upanishad
. Muktiko upanishad
(1) 1

(2) 2

(3) 3

(4) 4
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QBID:170032

Which of the following is the oldest book on Vyakaranshastra?

. Ashtadhyayi
. Pingal sutra
. Nighantu

. Pratik sutra

1) 1

(2) 2

(3) 3

4) 4
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Which of the following poets has been recognized as the first poet of Hindi?

. Pund

. Sarahpad

. Shalibhadra Suri
. Dev Sen

(1) 1

(2) 2

3) 3

4) 4
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Sl. No.34
QBID:170034

Which of the following poets wrote ‘Bisaldev Raso™?

. Jagnik

. Vidyapati

. Narpati Nalh
. Sharandhar
1 1

(2) 2

3) 3

(4) 4
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QBID:170035

“Wilkinson Rule™ is popular in which of the following societies?

. Santhali society
. ‘Ho’ society

. Munda society

. Khadiya society
1) 1

(2) 2

3) 3
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QBID:170036

Tubid Gotra katha is said to belong to which of the following species?

. Santhali
. Munda

. Khadiya
;HO?
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QBID:170037

Who among the following is the author of Hindi Bhasha and Kudukh Bhasha ki kriyayon Ka prakaratmak
Adhyayan?

. Dr. Narayan Bhagat
. Dr. Hari Uraon

. Dr. Somara Uraon

. Dr. Sura Uraon

1) 1

(2) 2

(3) 3

4) 4
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QBID:170038

Who wrote ‘Pachparganiyan Vaishnav Geeton ka sthapatya’?

. Shri Kande Munda

. Gandura Munda

. Dr. Ram Dayal Munda
. Dr. Sikradas Tirki

(1) 1

(2) 2

3) 3

(4) 4
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QBID:170039

True devotion is related to which of the following?

1. Method of worship
2. Heart

3. Pedantry

4. Bhakt/Devotee who has knowledge
(1) 1
(2) 2
(3) 3
4) 4
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What was the childhood name of Krishna Chaitanya Mahaprabhu, who was the founder of Gaudiya or
Chaitanya Mat?

. Vishwambhar
. Nimai

. Gourang

. Chaitanya
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3) 3
(4) 4
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Which of the following were basis of the tangible in sculpture?

A Stone
B. Metal
C. Motor parts
D. Book

Choose the correct answer from the options given below :

. B and C only
. C and D only
. Aand B only
. A and C only

S

(1) 1
(2) 2
(3) 3
(4) 4
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Sl. No.42
QBID:170042

Which of the following are purpose of poetry?

A. Yash

B. Amangal Nivriti
C. Abhyas

D. Shailly

E. Chhand

Choose the correct answer from the options given below :

. (A) and (B) only
. (B) and (C) only
. (C)and (D) only
. (D) and (E) only
(1) 1
(2) 2
3) 3
(4) 4
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C. A=TE
D. At
E.@%
Qﬁ%%ﬂrqﬁaﬁT&ﬁ «Fﬁl Il kI =44 %%W\
1.%a (A) ¥ (B)
2.%a9 (B) @R (c)
3.%ae (c) @it (D)
4.%=9 (D) @R (E)
1
) 2
3) 3
(@) 4

1[Option ID=10565]
2[Option ID=10566]
3[Option ID=10567]
4[Option ID=10568]

Sl. No.43
QBID:170043

Which of the following are the components of an epic?

A. Description of only one spelling of life
B. Description of overall life

C. Mangalacharan

D. Short form

Choose the correct answer from the options given below :

. Aand D only
. B and C only
.Band D only
. C and A only

B R




(1) 1
(2) 2
(3) 3
(4) 4

HaThicd E{ EE-‘:-;—E}{F-[ ad U’E[ T‘I'I_':' é?

A. S & Towd o # 9i w1 e
B. 985U Sa9 &1 f=Em

C. ST =0

D. ¥, &7

[ [ ' Y " i~
= f2u U faweat # @ ©E 39 F 99 S

—+

1.%39 (A) ¥ (D)
2939 (B) @R (c)
3.%ad (B) ¥R (D)
4. FaE {\C:J R (a)

1) 1

2) 2

3) 3

(4) 4

1[Option ID=10569]
2[Option ID=10570]
3[Option ID=10571]
4[Option ID=10572]

Sl. No.44
QBID:170044

Which of the following songs are included in the folk songs pertaining to Sanskar?

A. Shram song

B. Vivah song

C. Kajali song

D. Yagyopavit song

E. The songs of Ahiras

Choose the correct answer from the options given below :

.(B) and (D) only
. (A) and (C) only
.(B) and (E) only
. (A) and (E) only
(1) 1
(2) 2
(3) 3
(4) 4

+ it i A o 3 A
OeaR gFee @ i1 & o iE FE-diE TE ITEe 2 7

da i b

A g=-7Ta

B. faamz g

C. Fere =T

D. FFiatad & 1

= ﬁt’ ma haEH(' T o ?Ef H_F:i IT F] TE9 FIAT

1.%a% (B) @R (D)
2.%aa (A) &1 (c)
3. %9 (B) iR (E)
4.%7e (A) ¥R (E)




1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10573]
2[Option ID=10574]

3[Option ID=10575]
4[Option ID=10576]

Sl. No.45
QBID:170045

Which of the following useful commodities come under Wooden craft?

A. Dhenki
B. Pitcher
C. Mugra
D. Dhonthi

Choose the correct answer from the options given below :

.Band C only
Aand C only
. Aand D only
. Cand D only

1) 1
(2) 2
3) 3
(4) 4

o = 2 =% & ~ ¢
SEATOTREd H 8 FHiF-hiF 3T FEAU, I8 SOl & AT Al

A A&
B. 7T
C. 7T
D. %31

B

T.TI1 ]
U
a2y

o ~ e
= f2u o fomweTt 8 © w51 39 @ =95 S

1.%ae (B) &R (C)
2.%a% (A) &1 (c)
3. % (A) 3 (D)
4. %5 (¢) iR (D)

1) 1

) 2

3) 3

) 4

1[Option ID=10577]
2[Option ID=10578]
3[Option ID=10579]
4[Option ID=10580]

Sl. No.46
QBID:170046

The house amidst the village of Asur species is known as

A. Vadyayantra Grih (Instruments house)
B. Giti-Oda

C. Granary

D. Vrihadashram

Choose the correct answer from the options given below :

. Aand B only
. B and C only
.Aand D only
. Cand D only

(1) 1

P




(2) 2

(3) 3
(4) 4

[ o 2 = r it N T
A AE & T & =99 &F Tz Fl 7 Fg I a7

A.9TT 77 TR
B. T4 3fret
C. ¥ 7
D. IZHF

[l ~ e Y - ~
= f2u v fomest 8 @ w51 39 @ =95 Sl

1.%99 (A) ¥ (B)
2. %= (B) 3R (C)
3. % (A) 3 (D)
4. %39 (c) ¥ (D)

@ 1

2 2

3) 3

) a

1[Option ID=10581]

2[Option ID=10582]

3[Option ID=10583]
4[Option ID=10584]

Sl. No.47
QBID:170047

What kind of marriage practice is popular in Birhor tribe?

A. Bolo Bapla

B. Ghar-Jamai Marriage (The bride groom has to live at bride’s home after marriage)
C. Sanga Bapla

D. Elopement

Choose the correct answer from the options given below :

. A and B only
A and C only
. B and C only
. Cand D only
1 1
(2) 2
3) 3
(4) 4

:?!Hn?_:a{ T A +9 iz & EHS ST mf‘m %?

il S

NG IV
B. 9% 5415 fua=
C. 9T =0T

1.%aa (A) = (B)
2.%aw (A) 3R (C)
3.%a (B) &1 (¢)
4.%aw (C) R (D)
1) 1
) 2

3) 3




(4) 4

1[Option ID=10585]
2[Option ID=10586]
3[Option ID=10587]
4[Option ID=10588]

Sl. No.48
QBID:170048

Which are the major festivals of Birajia tribe?

A. Navakhani

B. Raij karam

C. Dussehra puja
D. Fagua

Choose the correct answer from the options given below :

. Aand C only
A and B only
. C and D only
. B and D only
(1) 1
2) 2
3) 3
(4) 4

P

fatfaa s=eft & g7 1E-caEr -4 27
B. U539 &
C. 2= T

D. AT

N o i A Ll ~

[} % - ¥ " I o
A= 120 U Tdhedl H | |l 301 <l =89 iy

1999 (A) 2R (C)
2.%99 (A) @i (B)
3.%ad (C) 3R (D)
4. %@ (B) ¥R (D)

(1) 1

) 2

(3) 3

4) 4

1[Option ID=10589]
2[Option ID=10590]
3[Option ID=10591]
4[Option ID=10592]

Sl. No.49
QBID:170049

Which kind of social system is popular in Korava tribe?

A. Patriarchal

B. Matriarchal

C. Dominated by elderly people
D. Patrilineal

Choose the correct answer from the options given below :

. Aand B only
. B and C only
.Aand D only
. A and C only
1) 1
) 2
(3) 3
(4) 4

B




Y o [ S =
T ST | {59 a9 =1 gEtes sge g=te 27

A frgaara=

b=

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=10593]
2[Option ID=10594]

3[Option ID=10595]
4[Option ID=10596]

Sl. No.50
QBID:170050

Which of the following are the sub castes of Sabar tribe?

A. Jhara
B. Delki
C. Basu
D. Dudh Khariya

Choose the correct answer from the options given below :

. A and D only
.B and C only
. A and C only
.B and D only
1) 1
(2) 2
3) 3
(4) 4

By R O R




e ST Bl BH-F N STl &7

Fi= fqu v o ¥ ¥ 9E S A == At

1. 9= (A) =1L, (D)
2.3t (B) e (C)
3. A (A) IR (C)
1.3 (B) i (D)

1[Option ID=10597]
2[Option ID=10598]
3[Option ID=10599]
4[Option ID=10600]

Sl. No.51
QBID:170051

Kharsawan golikand is Martyrdom day of which of the following?

A. People of Odisha
B. Jharkhandies

C. Bengalis

D. Tribes

Choose the correct answer from the options given below :

1. A and C only
2. A and B only
3. B and D only
4. C and D only

1) 1

) 2

3) 3

(4) 4




‘GrEal et FE TR wEed feaw 37

A. fzar-ame =
B. @tz &
C.mmferal &
D. sfeataar =

=1 fgu v fawear ¥ 9 9 sow == Fifsu

1. 9 (A) =1y (€)
2. FaS (A) = 1E8 (B)
3. Fad (B) AR (D)
4. A (€) e 1es (D)

1[Option ID=10601]
2[Option ID=10602]
3[Option ID=10603]
4[Option ID=10604]

Sl. No.52
QBID:170052

What is the definition of figure of speech?

A. Increasing the beauty properties of sentence is called figure of speech
B. Increasing the beauty properties of word is called figure of speech

C. Increasing the beauty properties of meaning is called figure of speech
D. Increasing the beauty properties of kathak is called figure of speech

Choose the correct answer from the options given below :

. Aand C only
.Cand D only
.Band C only
.B and D only
(1) 1
(2) 2
3) 3
(4) 4

SRR TRT T ST 2 7

P A

A TTFT F] W TEEATH g9 f FAER FA T A
B. I[%, &1 IH] SpMaTe 99 & FSFE Fa1 I 2
C. &1 & TET TGRS H I SAHR FE A
D. FUS &1 TH T5HaTT 95 S FATHR FaAT AT 2

1999 (A) 2R (C)
2,999 () ¥R (D)
3. %= (B) *f (¢)
4. %39 (B) ¥R (D)

(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=10605]
2[Option ID=10606]
3[Option ID=10607]
4[Option ID=10608]

Sl. No.53
QBID:170053

Which of the followings are types of figure of speech?

A. Sabdalankar
B. Lokokti

C. Misralankar
D. Asangati

Choose the correct answer from the options given below :

. A and D only
.B and C only
. A and C only
. C and D only
1) 1
(2) 2
3) 3
(4) 4

B

HATFR & THF (a9 FiH-aa 3 37

A, ISR
B. Tl&IT
c. BaeER
D. a7

~

= 2o 7u fawent 5 @ wd 39 &1 == iy

1.9 (A) ¥R (D)

2. %= (B) @R (C)

3.%ad (A) HR (C)
Faet () FR (D)

@ 1

) 2

(3) 3

4) 4

1[Option ID=10609]

2[Option ID=10610]

3[Option ID=10611]
4[Option ID=10612]

Sl. No.54
QBID:170054

What was movement area of Tilka Manjhi?

A. Tilka Manjhi started freedom movement in Damin-I-Koh of Rajmahal

B. The beginning of Santal hool took place in 1855 at Chotanagpur

C. The movement of Tilka Manji was spread to dense forest, dreadfull valleys, hilly reverine areas etc.
D. Tilka Manjhi was informer of the Britisher’s

Choose the correct answer from the options given below :

. Aand C only
. B and C only
. C and D only
. Aand B only
1 1
(2) 2
3) 3

B




(4) 4

[ R .
BSEIRIE]

= S
T AT &3 Fal

A. oo =1 3 o
B. 1855 # §aTet 7@ Eﬁr AT

HE

fj

~, = + =,
&% = %—ﬁ'@' AT AR TS o

FEHNIL A 25

-2

c. oo w3ht =1 sriem fasg o, e ifedl, TR AT enfs 7% e gen o
D. fore |1=ft g w1 SfFa o
1= 20 U fysedl § 9 g3 390 & =9 fe0

1.%ad (A) R (C)
2.%99 (B) &R (c)
3. %9 (c) = (D)
4. 99 (A) &t (B)

1) 1

() 2

3) 3

) a

1[Option ID=10613]
2[Option ID=10614]
3[Option ID=10615]
4[Option ID=10616]

Sl. No.55
QBID:170055

Veer Budhhu Bhagat were fighting against which of the following army?

A. Veer Budhhu Bhagat fought against the Mughal army

B. Veer Budhhu Bhagat fought a thrilling war against English army
C. Veer Budhhu Bhagat was not a hero during Kol revolt

D. Veer Budhhu Bhagat were fighting against landlords

Choose the correct answer from the options given below :

1. Aand B only
2.Band C only
3.Band D only
4. A and D only

1 1

(2) 2

3) 3

(4) 4

AR Ty 9 J g
B. ¥R 9g w0

% faeg 9oveier 4 7

o1 & favz guv fem o

T S R o A v fa s
' cﬁﬁ‘-—-ﬁ TF1 & FgaTs @M 2% I3 T I

C.FR gy *

T A

F d9% 75 9

D.FX 99 *

1. &ae

\-1"";i"‘:‘|{| EF I'th-{; Hu'ﬂ-{i:




1[Option ID=10617]
2[Option ID=10618]
3[Option ID=10619]
4[Option ID=10620]

Sl. No.56
QBID:170056

Which of the following two statement are true?

A. Sidhu-Kanhu were siblings

B. Both were not siblings

C. Sidhu Kanhu, Chand, Bhairav-the four were brothers
D. They were cousins.

Choose the correct answer from the options given below :

. A and B only
Aand C only
. B and C only
.Cand D only
1)1
(2) 2
3) 3
(4) 4

il

%

Afga § F4 % F99 w41 3

% .
A, H“_Qﬁ"fi Halel r'"TE o

B. %Ml TElET T3 741 9
C. 94—, a.;‘q\. 8w = ‘-—lﬁ; 9
D. 3 =1 T 41§ 3|
= f2n o faeedt & § gF 39 T 99 e
1.%ac (A) 3T (B)
2. %3 (A) @R (€)
3.%a9 (B) ¥ (C)
4.%99 (C) ¥R (D)
@ 1
() 2
3) 3
(4) 4

1[Option ID=10621]
2[Option ID=10622]
3[Option ID=10623]
4[Option ID=10624]

Sl. No.57
QBID:170057

What was birth place of Telanga Khadiya?

A. Murgoo village of Sisai police station
B. Murgoo amba toli of Sisai police station
C. Lavanganyi of Sisai police station

D. In Gumla district

Choose the correct answer from the options given below :

. Aand B only
.B and C only
. Cand D only
. Aand D only
1) 1
(2) 2
3) 3
(4) 4

B




A afem = 5 waf ge w?

B. frs ?ﬂﬁm%ﬁﬁd\» x
D'Wﬁwﬁicm a7

1.%99 (A) 3 (B)
2.%a@ (B) ¥R (c)
3. %9 (C) & (D)
4.%a@ (A) ¥R (D)

1) 1

() 2

3) 3

4) 4

1[Option ID=10625]
2[Option ID=10626]
3[Option ID=10627]
4[Option ID=10628]

Sl. No.58
QBID:170058

Where was the capital of Naga dynasty?

A. Sutyambey was capital of Naga dynasty

B. Naga dynasty’s capital in east was Chutyiya

C. Naga dynasty later established its capital in Khukhara Mudhar Pahad
D. Naga dynasty’s capital was in Pithoriya

Choose the correct answer from the options given below :

. Aand B only
. B and C only
. C and D only
. A and C only
(1) 1
2) 2
3) 3
(4) 4

ot n & A o.
ARTIRIED & TS9N Sl U477

B

s ~ s n
1. ATTHETH] _?'Crl INSEICH P‘ji:ﬂlrﬂ AT
TafeEt E1 TeYE @ | gie o

o

5 9% H EU 7581 18T T TSl SeaTs

e

e & TeET et | o

= fou 70 fameat & @ @31 st &1 =91 filEy

1.%99 (A) 37t (B)
2.%9% (B) ¥R ()
3.%a9 (c) # (D)
4. %39 (A) ¥R (c)

(1) 1

) 2

(3) 3

) 4

1[Option ID=10629]
2[Option ID=10630]




3[Option ID=10631]
4[Option ID=10632]

Sl. No.59
QBID:170059

Panday Ganpat Rai was warrior of which of the following kind?

A he was adept at war-fare since his childhood
B. he was adept at hunting

C. he was not interested in adept learning

D. he did not participate in social activity

Choose the correct answer from the options given below :

1. A and B only
2. B and C only
3. C and D only
4. A and D only

)1

2 2

3) 3

(4) 4

T2 TH9d T TR T1 & Il 47

A9 | Je-Fa H g 9

B. fatepm @ #§ AR 9

C. fqe A=A | I 9 T2 T o
D. g HHTIoes b hH § 9T T8 oid 9

= fzu U fawem 4§ wE s == fif

L 37 (4) she (B)
2.3 (B) s (€)
3. ¥ (C) e 18y (D)
4. FFA (A) AR (D)

1[Option ID=10633]
2[Option ID=10634]
3[Option ID=10635]
4[Option ID=10636]

Sl. No.60
QBID:170060




Where was birth place of Shekh-Bhikhari?

A. Shekh-Bhikari was born in Khudiya gram of Ormanjhi
B. Shekh-Bhikari was born in Lutiya gram

C. Khudiya gram is in Ranchi district

D. Shekh-Bhikhari was born in a Brahman family

Choose the correct answer from the options given below :

. Aand B only
. B and C only
. C and D only
. Aand C only

R

1) 1
(2) 2
(3) 3
(4) 4

3 farardt 1 5= =&l ge 917

A. 773 faard @ 5= et & it o F ge o
B. 23 faardt &1 5= afear 9= ze0 o

c. 3 g T+ e | 2

D. W -fomarl &1 5= s wfan § g3 o

[ ~ ¢ ' Y [ ol -~
= 2w U faeat # @ w8 39 w1 = i

1.999 (A) 3 (B)
2.%99 (B) R (C)
3.%a9 (c) #R (D)
4. %39 (A) ¥R (c)

) 1

@ 2

(3) 3

) 4

1[Option ID=10637]
2[Option ID=10638]
3[Option ID=10639]
4[Option ID=10640]

Sl. No.61
QBID:170061

Which of the following commodities are not included in the craft of pottery?

A. Bhanda
B. Drum (Dhol)
C. Khunta
D. Chukka

Choose the correct answer from the options given below :

. Aand B only
.B and D only
. B and C only
. C and D only
1)1
(2) 2
3) 3
(4) 4

R




a2t o & eFeara FiE-w & e atEe FE 2 7

A HIZT
B. &I

D.=H=

ol ﬁ" ~ vk n
A= 150 MU Tdhedl H d Hal 30 &l =344 &l

1.%99 (A) 3 (B)
2.%99 (B) ¥R (D)
3.%a (B) 3 (C)
4% (c) ¥R (D)

1) 1

) 2

3) 3

) a

1[Option ID=10641]
2[Option ID=10642]
3[Option ID=10643]
4[Option ID=10644]

Sl. No.62
QBID:170062

Which of the following two works are considered to be great works?

A. Sursaravali
B. Sursagar

C. Sur pachisi
D. Sahitya lahari

Choose the correct answer from the options given below :

.B and D only
A and B only
. B and C only
.C and D only
(1) 1
2) 2
3) 3
(4) 4

il

H-ATE &1 ®IF & Al ST F¥ HE 6l 80

A FEEE
B. {IETT
D. @Tfeed Tl
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s ~ ¢ m
= Tz o fowest 8§ 991 39 T =9Ee Fl
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1.%79 (B) ¥ (D)
2.%39 (A) = (B)
3.%99 (B) ¥R (C)
4. %39 (C) ¥R (D)

@ 1

) 2

(3) 3

) 4

1[Option ID=10645]
2[Option ID=10646]




3[Option ID=10647]
4[Option ID=10648]

Sl. No.63
QBID:170063

Which of the following are the major tendencies of Ritikavya?

A. Bhakti

B. Shringarikta
C. Niti

D. Riti Nirupan

Choose the correct answer from the options given below :

1. Aand C only
2.B and C only
3.Cand D only
4. B and D only

™ [ "\‘ ' Y " i~
= f2n o faeedt & § gF 39 T 99 e

1.%ad (A) #HIT(C)
2.%a9 (B) ¥R (C)
3.%a9 (C) ¥ (D)
4.%3@ (B) ¥ (D)

1) 1

() 2

(3) 3

) 4

1[Option ID=10649]
2[Option ID=10650]
3[Option ID=10651]
4[Option ID=10652]

Sl. No.64
QBID:170064

Which of the following classifications of the languages of the world are according to figure based
classification?

A. Pre-historic languages
B. European languages
C. Ayogatmak languages
D. Yogatmak languages

Choose the correct answer from the options given below :

Aand B only
. Cand D only
.Band C only
. Aand D only
(1) 1
2) 2
(3) 3
(4) 4

i e
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1.%99 (A) 3 (B)
2.%a9@ () ¥R (D)
3. % (B) * (C)
4.%a@ (A) ¥R (D)

1) 1

) 2

3) 3

) a

1[Option ID=10653]
2[Option ID=10654]
3[Option ID=10655]
4[Option ID=10656]

e
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Sl. No.65
QBID:170065

Who are the poets of Bhakti-age?

A. Kabir
B. Deendayal Giri
C. Bihari
D. Jayasi

Choose the correct answer from the options given below :

.Aand D only
. B and C only
. Aand C only
.C and D only
(1) 1
2) 2
3) 3
(4) 4

sfE-oe & w9 wE-a= 27

P

L
P
>
it
:
&,
-
i
0
0

4,
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=10657]
2[Option ID=10658]




3[Option ID=10659]
4[Option ID=10660]

Sl. No.66
QBID:170066

Match the Khortha poets with their composition :

LISTI LISTII

A. Raja Dalel Singh 1. Raghuvar Vinay
B. Padyam Das [I. Gyan Sudhakar
C. Rudra Singh 1. Kavya Manjari

Raja Ganga i [—_ ‘
ENarayan Singh E Sy, Satar

Choose the correct answer from the options given below:

1. (A)-(IV), (B)-(ID), (C)-(1I), (D)-(D)
2. (A)-(1), (B)-1), (C)-(1), (D)-1V)
3. (A)-(I), (B)-(D. (C)-(1V), (D)-(II)
4. (A)-(D. B)-IV), (C)-(Im), (D)-(ID)
1) 1
2) 2
3) 3
(4) 4

-1 wy w7 g -l faem it
el & fEtaraa FEa o SHE T F 9y gt frrer

et et
A. TS goid o I T o=
B. UEH T I ST AT
c. Te fag I, T T1)
TSI T Ao
Dfes v. firm |amr
_ﬁ%

=1 fzu U fameTt ¥ 9 9 s = == Fife

1. (A)-(IV), (B)-(III). (C)-(I), (D)-(D)
2. (A)-(m), (B)-(II). (C)-(). (D)-(IV)
3. (A)-D). (B)-(D. (C)-(IV). (D)-(II)
4. (A)-D). B)-aV). (O)-m). (D)-dD)

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=10661]

2[Option ID=10662]

3[Option ID=10663]
4[Option ID=10664]

Sl. No.67
QBID:170067




Match the poets with their works :

LISTI LISTII
Poets Works
A | Shekh Navi 1. | Yusuf Julekha
B. | Jayasi II. | Gyan deep
C. |Usman I11. | Akharawat
D._ | Shekh Nisar | IV. | Chitrawali

Choose the correct answer from the options given below:

L (A)-(I). (B)-(II). (C)-(III). (D)-(IV)
2. (A)-(ID). (B)-(II). (C)-(IV). (D)-(I)
3. (A)-(IID), (B)-(IV). (C)-(I). (D)-(II)
4. (A)-(IV), B)-(D), (C)-(ID), (D)~(III)

) 1
2) 2
3) 3
4) 4
-1 & 919 & gH-1 & ffem S

-~

B s e e S ~ N R AR o
M=ICTRIA k=] Tl 3% T=EIHAT & 919 H 070 fou

T Gl
A |TrE e 1 [ZgF o
B. | S o | 3= #m
A EGEL 11 | Sgaaz
D. | zrg FEr | v | e

1= feu o famweTt 8 ® @31 39 % =93 e
L (A)-(D). (B)-(I1), (C)-(I1I), (D)~(IV)
2. (A)~(IT), (B)-(IIT). (C)-(IV), (D)-(T)

3. (A)-(II), (B)-(IV), (C)-(I). (D)-(II)

4. (A)-(IV), (B)-(I). (C)-(11), (D)~(I1I)

1) 1

2) 2

3) 3

4) 4

1[Option ID=10665]
2[Option ID=10666]
3[Option ID=10667]
4[Option ID=10668]

Sl. No.68
QBID:170068

Match the following Books of Nagpuri with their Author

LISTI LISTII
Books Author
A | Traditional art of Jharkhand | I | Dr. Bhuwaneshwar Anuj
B | Martyr of Jharkhand II. | Shankar lal Gaunfu
. _ Kavi-ratna Nacemuddeen
C..| Pogass L Wfirdaha Raskhan
D. [Menjoor Paneikh V. Dr GglthL R Copuityl
Giriraj

Choose the correct answer from the options given below:

L (A)-(IV), (B)-(I). (C)-(11), (D)-(11I)
2. (A)-(ID), (B)-(III), (C)~(I), (D)-(IV)
3. (A)-(IV), (B)-(I). (C)-(IID), (D)~(II)
4. (A)-(IID), (B)-(IV). (C)-(I), (D)~(II)

e —

1 1
) 2




3) 3

() 4

-1 F 91y 1 GA-11 F He= e,

AL & et EaEl &1 39 AR & @19 Ao S

1 Bl
qTash TOATRR

-

TRET & TEIRS

O o i g i o ~
== TRE, 0 ri]EF.(in H d Hgl 308 I F49- <hl A0

L (A)-(IV), (B)-(I), (C)~(II), (D)-(III)
2. (A)-(ID), (B)~(I1I). (C)~(I). (D)-(IV)
3. (A)-(IV), (B)-(I). (C)-(III), (D)-(II)
4. (A)-(II). (B)-(IV). (C)-(I). (D)-(I1)

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=10669]

2[Option ID=10670]

3[Option ID=10671]
4[Option ID=10672]

Sl. No.69
QBID:170069

Match the Kudukh magazines with their publications places

LISTI LISTII
Kudukh magazines| Publication places
Sarna fool [. |Dellu

Kudukh ahrey | II. | Pathal gaon
Kudukh Baot | III. | Ranchi
Naam kudkhat | IV | Bhopal

olo[=]»

Choose the correct answer from the options given below:

1. (A)-(TI1), (B)-(1), (C)-(IV), (D)-(I1)
2. (A)-(ID), (B)~(III), (C)-(I), (D)-(IV)
3. (A)-(I). (B)-(ID). (C)-{III). (D)-(IV)
4. (A)-(IV), (B)~(II). (C)~(I), (D)-(I1I)

1) 1

) 2

(3) 3

(4) 4




=i-1F T1% & G- % fFem S,

=,
ol o~ S e e o
FeRTEET $5d THARIFAT &l 306 IFRE T90 & 9 4= g & St

= T 1 [feg
3@ TE | I |TeEE T

Fgg 91 e |m | T=h

REE

a5 $8dd IV, [ HIHT=T

T % oS P
%U‘ MU Tdhedl 9 § gl 308 & =499 & Sl

v

B
i|s

(A)-(IID), (B)-(I). (C)-(IV). (D)~(II)
. (A)-(ID), (B)-(I1I). (C)-(I), (D)-(IV)
(A)-(I). (B)-(IT). (C)-(IIT). (D)-(IV)
 (A)-(IV), (B)-(IT), (C)-(I), (D)-(I1T)
1) 1
(2) 2
3) 3
(4) 4

ko =

= e

1[Option ID=10673]
2[Option ID=10674]
3[Option ID=10675]
4[Option ID=10676]

Sl. No.70
QBID:170070

Match the following ports of Kurmali according to their date of Birth :

LISTI LIST IT
Binand Singh I 11720
Barju Ram Tanti| II. | 1886
Gaurangiya IIT. | 1775
Bhampreeta V. | 1770

o]

Choose the correct answer from the options given below:

1. (A)-(ID). (B)-(IIT). (C)-(I). (D)-(IV)
- (A)-(ID), (B)-(I). (C)-(I11). (D)-(IV)
(A)-IV). (B)-(I). (C)-(IID). (D)-(I)
(AT, (B)-(IV). (C)-(ID). (D)-(I)
1)1
(2) 2
(3) 3
(4) 4

qH-1% 19 & GH-1 & e i
G & =fcTign 9l & 54 ol & @1y gafom difau
I e I

| T L |1720

S PR

)

11 | 1886
TR m. | 1775

| HEETET IV.|1770

gl W]
A

B
s

fen o fosenl & @ wE 39 @ =mm i
(A)-(ID), (B)-(I1), (C)-(1). (D)-(IV)
- (A)-(I), (B)-(D), (C)-(II). (D)-(IV)
- (A)-(IV), (B)-(II), (C)~(IIT), (D)-(T)
. (A)-(IIL). (B)-(IV}, (C)-(IT). (D)-(I)

b =

=




1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10677]
2[Option ID=10678]

3[Option ID=10679]
4[Option ID=10680]

Sl. No.71
QBID:170071

Match the wooden craft various instruments of Jharkhand on the basis of their use :

LISTI LISTII
Instruments Use
A |Lattoo 1. | Agriculture purpose
B. |Kand II. | Domestic purpose use
C. | Khatiya (Cot) | III. | House making
D. |Bullock cart | IV. | For the game purpose

Choose the correct answer from the options given below:

L (A)-(IT), (B)~(IV), (C)-(I), (D)-(III)
2. (A)-(I1D), (B)-(1). (C)-(I1), (D)-(IV)
3. (A)-(IV). (B)-(III). (C)-(IT). (D)-(I)
4. (A)-(D), (B)-(IV). (C)-(II). (D)-{1II)

11

(2) 2

(3) 3

4) 4

TF"'I F 91T 1:[_\:}-—11 =1 oo E’:—%l“ :

X, .~ ~ - - -~ ~
FITIE T FAT F HE ITHON F ITAN & SATUR GHIGT ity

T 1 T 1
TUHIOT TTIRT
ATz 1 | &
B. |FT2 I [=E s7Im
c |=f= . |7z~ fmi
D. [Semrgt | |Ee & =H
1= feu o famweTt 8 ® @31 39 % =93 e
L (A)-(IT), (B)~(IV), (C)~(1), (D)-(I1I)
2. (A)=(I), (B)-(1). (C)-I). (D)-(IV)
3. (A)-IV). (B)-(IL). (C)-(1T). (D)-(I)
4. (A)-(1). (B)-(IV). (CO)-(I1), (D)-(11I)
1 1
2) 2
3) 3
() 4

1[Option ID=10681]
2[Option ID=10682]
3[Option ID=10683]
4[Option ID=10684]

Sl. No.72
QBID:170072




Match the manufactured commodities with their components :

LISTI LISTII
Components  [Manufactured Commodities
A [Soil 1. | Dhenki
B. | Bamboo II. |Kutast
C. [ Metal [ | Chukka
D. | Woed IV | Kumni

Choose the correct answer from the options given below:

L. (A)-(T), (B)-(IIT), (C)-(IV), (D)-(IT)
2. (A)-(I1), (B)-(I). (C)-(1L), (D)-(IV)
3. (A)-(IV). (B)-(II), (C)-(1). (D)-{III)
4. (A)~(II), (B)-(IV). (C)-(11). (D)-(T)

(1) 1

(2) 2

3) 3

(4) 4

qH-1% 7 & -1 & Ham S

i et
=T e =g
A | 1 | &l
B. [T I | FerEt
c. v m (==
D. |FTE V.| 5
1= 2o u et 2 @ w1 39 71 = il
L. (A)-(D). (B)-(LII). (C)-(IV). (D)~(II)
2. (A)=(II). (B)-(D). (CO)-(IID), (D)-(IV)
3. (A)HIV), (B)-(II), (C)-(I). (D)-(III)
4. (A)-(III), (B)-(IV). (C)=(II). (D)-(T)
1) 1
2) 2
3) 3
4) 4

1[Option ID=10685]
2[Option ID=10686]
3[Option ID=10687]
4[Option ID=10688]

Sl. No.73
QBID:170073

Match the different emotions with the essence arising their from :

LISTI LISTII
Emotions Essence
Sorrow I. |Furious essence

Exclamation | II. | Pathos essence

Anger ITT. | Valiant essence

ofo[=[»

Enthusiasm IV. | Miracle essence

Choose the correct answer from the options given below:

L. (A)-(I1), (B)-(IV). (C)-(1), (D)-(III)
2. (A)-(T), (B)-(I11), (C)-(IV), (D)-(I1)
3. (A)-(IV), (B)-(I1), (C)-(IIT}, (D)-(I}
4. (A)~(II), (B)-(I), (C)-(IV). (D)-(II)

(1) 1

(2) 2

3) 3




(@) 4
P ~
-1 & |19 F G-I F HeH S ;
i s iR oy ok A o
afg 9TE] H IE G IETH 1@ GHIO FhiTeg

Y

et et 1
g EL3 ]
A |Ti= 1 |dg @
B |laeHg n|sem @
c |=wm m |dR @
D |3raE . | sreya @
H= feu o et & § @ I @ =u il
L. (A)-(IT). (B)-(IV). (C)-(I), (D)-(III)
2. (A)-(T), (B)-(I1I). (C}-(IV). (D)-(II)
3. (A)-(IV), (B)-(II). (C)~(IIT), (D)-(I)
4. (A)-(IID). (B)-(I). (C)-(IV). (D)-(1I)
1) 1
2) 2
3) 3
(4) 4

1[Option ID=10689]
2[Option ID=10690]
3[Option ID=10691]
4[Option ID=10692]

Sl. No.74
QBID:170074

Match the legends name of Jharkhand with their home block name:

LISTI LISTII
Name of the legends Home-Block
A | Budhu Bhagat I. |Bhandra-Block
B |Telanga Khadiya II. | Ormanjhi-Block
C. | Pandey Ganpat Rai | III. | Chanho-Block
D. | Tikatt umrao singh | [V, | S1sai-Block

Choose the correct answer from the options given below:

L (A)-(IV), (B)-(I), (C)-(I1I), (D)-(IT)

[

. (A)-(IID), (B)-(IV), (C)-(1), (D)-(II)

L

3. (A)-(I). (B)-(III). (C)-(II). (D)-(IV)

4. (A)-(IID). (B)-(ID), (C)-(IV), (D)-(D)
11
2 2
(3 3
4 4




J‘r—:.—f + 14 &I ?,‘EFF—IIG—_,I T—m:-—: q’-::f}ll.l‘ :
TUIE & TEEN & A9 F Y I [ WIS T A6 w2

TqATI gl o

HETYEST T ATH TE-TRGUE

Y T L [wrew e
qem @fem | |SwE s

772 TEIE U9 | m TR T

REE

r*.f; NI e & o ~
== 160, 70, Tdehedl § ¥ Tal 301 &1 =599 IV, :

L (A)-(IV). (B)-(I), (C)-(III), (D)-(IT)
2. (A)(III), (B)-(IV). (C)-(I). (D)-(IT)
3. (A)-(D). (B)-(III). (C)~(II). (D)-(IV)

4. (A)-(I1I), (B)-(IT). (CO)-(IV), (D)-(T)
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10693]
2[Option ID=10694]

3[Option ID=10695]
4[Option ID=10696]

Sl. No.75
QBID:170075

Match the stories of Hindi literature with their authors :

LISTI LISTII
Stories Author
A |Poos ki Rat I. | Viswambhar Nath Sharma
B. | Aanahi I1. | Chatursen Shastri
C. | Rakchha bandhan | III. | Premchandra
D. | Ambpalika IV, | Jay Shankar Prasad

Choose the correct answer from the options given below:

1. (A)-(IID), (B)-(IV), (C)-(I), (D)~(II)
2. (A)-(D). (B)-(IID). (C)-(ID), (D)-(IV)
3. (A)-(V), (B)-(II). (C)-(IID). (D)-I)
4. (A)-(), (B)-(IIL), (C)-(IV). (D)-(D)

(1) 1

(2) 2

(3) 3

(4) 4




-1 % T =1 gH-1 % e i

S rnsr fh R R A T A N N1 2
{%d' dIard & Talm4d] &l 319% ofidd] = A1H & H14 ‘Tl‘%’f’gi o1 ol

g1 gt o
Erucer [GECED
N EGE Rl B st B
B. | &ATefT I |=qeeH =T
c |wmem | |vr
p. | HAeuee | |s=eres woe
H= f2u o fament 8 @ @R I @ = fh
L. (A)-(IIT), (B)-(IV), (C)-(I). (D)-(IL)
2. (A)-(D). (B)-(TI1), (C)-(I1). (D}-(IV)
3. (A)-(IV). (B)-(I1), (C)-(I1T), (D)-(T)
4. (A)-(1T), (B)-(III). (C)-(IV). (D)-(I)
1y 1
2) 2
3) 3
(4) 4

1[Option ID=10697]
2[Option ID=10698]
3[Option ID=10699]
4[Option ID=10700]

Sl. No.76
QBID:170076

What is the correct chronological sequence of Marathi Litrary man’s emergence?

A. Mukteshwar

B. Tukaram

C. Sant Gyaneshwar
D. Mukund Rai

E. Namdev

Choose the correct answer from the options given below :

L. (D). (C), (E). (A), (B)
2.(A). (BE). (B). (C). (D)
3. (E). (A). (C). (D). (B)
4. (C). (A), (B). (E), (D)

(1) 1

) 2

(3) 3

(4) 4

™ | o N ~ -1 | i i b =
fferfign FUeT & FiEeasi =1 SAfasa FIowAHaR T2 S99 791 27

B. qFWH

C. 80 T
D.qg= T3
E.79

oo [ W
GBI RIS EETEl

"

9]
I |
B
1
fh
o7

1)

1. (D). (C), (E). (A). (B)

2.(A), (E). (B). (C). (D)

3.(E). (A). (©). (D). (B)

4.(C), (A). (B), (E). (D)
1) 1




(2) 2
3) 3
(4) 4
1[Option ID=10701]
2[Option ID=10702]

3[Option ID=10703]
4[Option ID=10704]

Sl. No.77
QBID:170077

Which of the following is the correct sequence of the sounds of &, =, €, d. Y vargas @Tf)‘?

A. Palatal
B. Velar

C. Cerebral
D. Dental
E. Bilabial

Choose the correct answer from the options given below :

1. (B). (A). (C). (D). (E)
2.(A). (C). (B). (E), (D)
3.(0), (D), (E). (B), (A)
4. (D). (B). (C). (A). (E)
(1) 1
(2) 2
(3) 3
4) 4
%, 9, 2, q, T A G af-a1 H TE HE F 87

A AT
B. FUgH
C.7g=
D. 777

E. #ITT

=

[l — ~ 't
LIER IR EEAE]

~

Y [ ol
H Hal 30 &1 =4 <hilFga

.

1

L (B). (A). (C). (D). (E)
2.(A), (). (B). (E). (D)
3.(C). (D). (E). (B), (A)
4. (D). (B). (C). (A). (B)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=10705]

2[Option ID=10706]

3[Option ID=10707]
4[Option ID=10708]

Sl. No.78
QBID:170078

Which of the following is the correct sequence of study of linguistics?

A. Inflected word

B. Meaning (Semantics)
C. Sound

D. Sentence

Choose the correct answer from the options given below :

1. (D), (B), (C). (A)
2.(C). (A). (D). (B)
3.(A). (C). (B). (D)
4. (B). (D). (A). (C)




(1) 1
(2) 2
(3) 3
(4) 4

Wﬁ?‘l’lﬁﬁ aem:[?ﬁagﬁﬂﬁam%?

LA
Y

oo w e

%1 ¢
- 5
5 i
o]

L. (D), (B), (C), (A)
2.(C). (A). (D). (B)
3. (A). (C). (B). (D)

(B). (D), (A). ()

4.

1[Option ID=10709]
2[Option ID=10710]
3[Option ID=10711]
4[Option ID=10712]

Sl. No.79
QBID:170079

Which of the following is the correct sequence of different genres of folk literature?

A. Ballad

B. Folk drama

C. Folk talk

D. Folk song

E. Miscellaneous literature

Choose the correct answer from the options given below :

1. (C). (D). (B). (E). (A)
2.(B). (C). (D). (A). (E)
3.(A). D). (E). (B). (C)
4. (D). (A), (O, (B). (E)

(11
) 2
(3) 3
4 4
ArEaeg 1 Gty Rl ad A F 27
A, ST
B.r_*l\ﬂc-'r, 124
C. AHHAT
D. AEE
E. U= i G 5?,:‘*4
= o 7 fodedt & @ @@ s w1 == il

1.(C), (D). (B), (E). (A)
2.(B). (©). (D), (A). (E)
3.(A), (D). (E). (B). (C)
4.(D). (A). (C). (B). (B)
(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=10713]
2[Option ID=10714]
3[Option ID=10715]
4[Option ID=10716]

Sl. No.80
QBID:170080

Which of the following is the right sequence of the birth emergence of the great sons?

A. Birsa-Munda

B. Sheikh-Bhikharil

C. Jatra-Bhagat

D. Pandey Ganpat Rai
E. Vishwanath Shahdev

Choose the correct answer from the options given below :

1. (A). (D). (C). (B). (E)
2. (B). (A). (C). (E). (D)
3. (C). B). (D). (A), (E)
4.(A). (B). (C). (D). (E)

(1)1

(2) 2

(3) 3

4) 4

S o sl . . _ s
fferfian o 9qal & ATfouTa & &1 T d9%0 797 2 7

A femr-gre
B. 3rg-faard
C. STaU=-4Ta
D. TUSF 799 T

p ~ ~ »
AT TRE T4 Ta<hedl § ° H71 308 R =49 Iy,

1. (A). (D). (C). (B). (E)
2.(B). (A). (C). (E). (D)
3.(C). (B), (D). (A). (E)
4. (A). (B). (©). D). (B)

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=10717]

2[Option ID=10718]

3[Option ID=10719]
4[Option ID=10720]

Sl. No.81
QBID:170081

Which of the following is the correct chronological sequence of the emergence of the great sons?

A. Sido

B. Tilaka Manjhi

C. Budhu Bhagat

D. Vishwanath Shahdev
E. Kanhu

Choose the correct answer from the options given below :

1. (B). (A). (D). (B). (C)
2.(B). (C). (A). (D). (E)
3.(C). (B), (D). (A), (E)
4. (A), (B). (C). (E). (D)

11




(2) 2
3) 3
4) 4

[ ol

freforfign o oyl & wnfawta &@ &1 9 s9Fe 79 27

=,

Afg
B. feretehT A=
C. 99 T

D. fava=1y smERa

4
N
=4

1. (B), (A). (D). (E). (C)
2.(B). (C). (A). (D). (E)
(C). (B). (D). (A). (E)
4. (A), (B), (C), (E). (D)
(1) 1
(2) 2
3) 3
(4) 4

=

1[Option ID=10721]
2[Option ID=10722]
3[Option ID=10723]
4[Option ID=10724]

Sl. No.82
QBID:170082

Which of the following is the correct chronological sequence of the emergence of the following poets?

A. Rahim

B. Nand Das
C. Mirabai
D. Bhushan
E. Biharilal

Choose the correct answer from the options given below :

L. (C). (B). (A). (E). (D)
2. (A), (C). (B). (D). (E)
3. (B). (A). (D). (E). (O
4. (D). (E). (A), (C). (B)

1) 1

(2) 2

3) 3

(4) 4

o~ [l [l ~or 23 Lo
ecTigt Hiad] & ATEHE FE & T3] SFI5F 91 5 7

L. (C). (B). (A). (E), (D)
2.(A), (). (B). (D). (E)
3.(B). (A). (D). (E). (C)
4. (D). (E). (A), (C). (B)
1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=10725]
2[Option ID=10726]
3[Option ID=10727]
4[Option ID=10728]

Sl. No.83
QBID:170083

Which of the following is the correct chronological sequence of the emergence of the following poets?

A. Vidyapati
B. Kabir

C. Chandbardai
D. Jayasi

E. Surdas

Choose the correct answer from the options given below :

1. (C). (A). (B). (E). (D)
2. (A). (B). (D). (B). (C)
3.(B). D). (B), (C), (A)
4. (D). (B). (A). (C). (E)

(1) 1
(2) 2
(3) 3
(4) 4

S ol ot e e S o IV no
AT R & HATHGHIT SIa 1 Hal HAdxHA 47

A. Framfa
B. FEK
C. FrEETS
D. STFH]

E. 5@

p ~ ~ »
AT TRE T4 Ta<hedl § ° H71 308 R =49 Iy,

e

?

L. (C). (A). (B). (E). (D)
2.(A). (E). (D). (B). (C)
3. (B). (D). (E). (C). (A)
4. (D). (B). (A). (C). (B)

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=10729]

2[Option ID=10730]

3[Option ID=10731]
4[Option ID=10732]

Sl. No.84
QBID:170084

Which of the following is the correct chronological sequence of the emergence of the following Acharyas?

A. Acharya Vaman

B. Acharya Bhamah

C. Acharya Anand Vardhan
D. Bharat muni

E. Acharya Kshemendra

Choose the correct answer from the options given below :

1. (A). (C). (B). (B). (D)
2. (D). (B). (A), (O), (E)
3.(B). (©), (D). (B), (A)
4. (C). (A). (B). (E). (D)

11

e




(2) 2
3) 3
4) 4
[ ! [ ol

efefag s s sRsE s s o w8 #9127

A. T FEF

B. AT WHE

C. ATEE HH=, g9
D. 9TEf

.(A). (C). (B), (B). (D)

. (D). (B), (A), (©), (E)
3.(B). (C). (D). (E). (A)
4. (C). (A). (B), (E). (D)

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=10733]

2[Option ID=10734]

3[Option ID=10735]
4[Option ID=10736]

Sl. No.85
QBID:170085

What is the correct chronological order of the propagation of the theories of epics?

A. Sound theory

B. Rationale theory

C. Rasa theory

D. Rhetoric theory

E. Method (Riti) theory

Choose the correct answer from the options given below :

1. (A). (©). (B). (E). (D)
2.(C). (D). (E). (A). (B)
3. (B). (A). (C), (E). (D)
4. (D). (B). (E). (A). (C)

1) 1

(2) 2

3) 3

(4) 4

~ e AT . ~ __ s
fferfign w=3 fagrmt &1 gfter =1 98 gen 791 27

A T Oz
B. #fif=rem fogma
C

D

@ Tagra

1. (A). (C), (B), (E). (D)
2.(C), (D). (E). (A). (B)
3.(B). (A). (C). (B), (D)
4.(D), (B). (E). (A). (C)
(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=10737]
2[Option ID=10738]
3[Option ID=10739]
4[Option ID=10740]

Sl. No.86
QBID:170086

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) :  The word ‘Kahani (story)’ has been derived from the art of telling stories.

Reason (R): Because it means to describe an incident from the beginning to end.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) is correct but (R) is not correct
4. (A) is not correct but (R) 1s correct
1) 1
(2) 2
3) 3
(4) 4
= :‘ L V‘T ma %‘ » T Aty [Asscrtlon kA)) % ] ‘E[ rI-E*1I ga %7':[ GH \‘j('i;h 1T
(Reason kR)) % ®TH
Afawaa (A) . Fa = fi e wEd f w1 €
% (R) : urzrﬁrsw\ﬂ‘ﬁ—mwa?m%« A 7 AV FAAT 2

T U & Ao H, J= 2 7 fawent & @ g99 377 39 @ =me difag

aaly

,{.rll-.

1. (A) &R (R) =1 @81 2 &R (R), (A) & @& =70 2
2.(A) ¥R (R) =1 w41 3, dfeA (R), (A) &7 & E:'Ecm.-—:ﬁ%
3.(A) @t 3, Sfes (R) @t 747 2
4. (A) W"f_' '-‘_'_':T %. g L KR) {1-'1 %
(1)1
) 2
(3) 3
@) a

1[Option ID=10741]
2[Option ID=10742]
3[Option ID=10743]
4[Option ID=10744]

Sl. No.87
QBID:170087

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) :  Upanishadas are basically the specific parts of the Aranyakas.

Reason (R): Because the zenith of the essence of Indian-ness and philosophical expressions are not found in
the upanishadas.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) is correct but (R) is not correct
4. (A) is not correct but (R) is correct
1)1
(2) 2
3) 3
(4) 4
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1. (A) o (R) 41 @ ¥ ok (R), (A) 6wt wawe
2.(A) &R (R) = w41 2, AfFA (R), (A) F1 9&1 =ame 761 2
3.(a) w1 2, &fes (R) w81 757 2

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=10745]
2[Option ID=10746]
3[Option ID=10747]
4[Option ID=10748]

Sl. No.88
QBID:170088

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reazon (R).
Assertion (A) :  The influence of Dharm (Religion) is due to Karma (Action), Gyan (Knowledge) and Bhakti
(Devotion)

Reason (R): Because of the absence of these three. Dharm (Religion) remains in its complete living
condition.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) is correct but (R) 1s not correct
4. (A) is not correct but (R) is correct
1 1
(2) 2
3) 3
(4) 4
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Tl 58U 39%h FR7
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A= 71 o fom e 2 uF e (Assertion (A)) % w9 # foffam 2
(Reason (R)) & w7 H :

AfaEuT (A) : UF &1 9919 FR, TH AR 9w 31 99 gsti @ For 2

F1 (R) : FIME §9 A1 & A9E @ g5 I 0 ueE w20 # @ A
ST U & ATAE A, A= B T o 5 9 g 377 3T HT FIH G ey

1. (A) ¥R (R) 591 @&t 8 &R (R), (A) 6 w1 === 2
2. (A) &R (R) o1 @& 2, ot (R), (A) & w81 = =51 2
3.(A) @@ 3, @ifes (R) = 747 2
4.(a) =@ = 2, ofe= (R) =71 3
1) 1
(2) 2
(3) 3
) 4

1[Option ID=10749]
2[Option ID=10750]
3[Option ID=10751]
4[Option ID=10752]

Sl. No.89
QBID:170089




Given below are two statements :

StatementI : Bodo movement occurred in Nagaland.

Statement II : Larka movement occurred in Odisha.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4, Statement I is incorrect but Statement II is correct
(1) 1
(2) 2
3) 3
(4) 4

LY

- RN T
A1 Al &Uq TR I &

HAT 11 |Gl AT TR H 51 41

& A\ r~ e
AT 11 1 TR ATRITE 35Ul H 831 91
= =, =, = =, i~ S .y
ITUT U & AT A, A 5 T fawed ® T 998 379F I F 99 S,

1.H99 [ AR I =91 97 2

2.%99 1 &R I 91 7o 8
3,999 1 93] 2, Sifed S99 I 7o 2
4. FY 1 o7 3, TR SUF 11 981 2
1 1
(2) 2
3) 3
(4) 4
1[Option ID=10753]
2[Option ID=10754]
3[Option ID=10755]
4[Option ID=10756]
Sl. No.90
QBID:170090
Given below are two statements :
StatementI : Paika is a dance form of Tharkhand.
Statement II  : Bhangra is a dance form of Gujarat

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement IT is incorrect
4. Statement I 1s incorrect but Statement II is correct
(1) 1
(2) 2
(3) 3
(4) 4

CIERARC T B A -
FUF1: TR FWIE FTeT 2

= A
®49 I ¢ HIEST TS &I 904 7l
™, =, =, = = i~ womE W =~
ITUT U & AT =, = f5g 70 fowewt | & 998 3773 39 = = il

1L.%YE [ AR I =29 &2) 2

2. %99 1 SN 11 241 7o 2
3.%99 1 921 2, e &I+ 11 78 2
4. T [ T 2, Sl H99 11 931 7
1 1
(2) 2
3) 3
(4) 4

1[Option ID=10757]




2[Option ID=10758]
3[Option ID=10759]
4[Option ID=10760]

Sl. No.91
QBID:170091

Read the following passage and answer the questions

Education does not necessarily mean that your mind is stuffed with so many ideas in such a way that inner
conflicts crop up in your mind and your mind is unable to digest those ideas or concepts. Education which
helps us to build our life, make us a human being, build our character and bring about a harmony of ideas can
rightly be called education. If you have been able to digest only five ideas and have accordingly, been able to
build your life and character, then you are more educated than the person who has memorized a whole library.
An idea which sharpens your intelligence, should be imbibed and an idea which weakens vou, should be
ek 5 n—_ < > hes

[FATRET TR=wR & TG e 6T 7T S99 & 3T a9

et %1 Aot 7z E 2 6 geen A # e gza-d w1 3@ 0w <u A W e g B o
SR g famm 3= Sfem e v o= | g fow e @ 3m e dem B e g, 5ae
TN TS, INF TeH FL g AN GER F GEEEE # g%, 97 a7Ed § W47 $EeTW 3 2| 36
qF 71 B WTE S T9EK dageR S SR T wfer 7 g B, 7 grEnl faan 5@ eeAt
ATH1 FEN AF 2, o7 0F W TOFTT T FoFd F TI1 2| T A5 =R qHR G 59,
3 F UV ] 21 U T gEe 9910 3FHN TReAET FEAT 20T

What should be the suitable title of this passage?

1. Inner conflict in mind
2. Library

3. Education

4. To talk brivolously

~
W
-~

A W N =

)} [ \
39 FE=9 & IIFH WG T AT

- v -
1.H4 H HA-AGgE gl

=

TETRITH
3. T
4. 9% &7 =10 A
(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=10761]
2[Option ID=10762]

3[Option ID=10763]
4[Option ID=10764]

SI. No.92
QBID:170092 ]
Read the following passage and answer the questions

Education does not necessarily mean that your mind is stuffed with so many ideas in such a way that inner
conflicts crop up in your mind and vour mind is unable to digest those ideas or concepts. Education which
helps us to build our life, make us a human being, build our character and bring about a harmony of ideas can
rightly be called education. If you have been able to digest only five ideas and have accordingly, been able to
build your life and character, then you are more educated than the person who has memorized a whole library.
An idea which sharpens your intelligence, should be imbibed and an idea which weakens you, should be
%banfd\orr!\ed r % asors N e

Mg TR=8G & 9ol A (R 0 UFH1 & 308 &lN0

fareat @1 e 77 7E1 2 T qen A | UE aga- A 39 0w oF A 90 fF ora B o
A g famm 3= Fwm = v 0= | g9 5w Tt @ 38 e Fiem B e as, 59
T W, TINT TeA L Ed AN GER F HEEE g%, 95 a7Ed § W] FEaW A 2| 96
a5 71 A 919 S gEE] aager Sem SR T afer = g =, @ geEnl e 3@ s
e aga oS 2, o0 1 @ wEed F Fiesd = T 3| S S FER gEe s ==,
34 &1 U= &1 20T UE S mae 990 38 TREART ST 29
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Which of the following is built by education?

1. Character-building
2. Formation of a state
3. Building of a house
4. Building of a school

1)1

(2) 2

(3) 3

(4) 4

farer @ = fomtor ZAT 37

. Teg=T=HTm
3. z-Tmm

4. Tamerg-Taarm
1) 1
() 2
3) 3
(4) 4

ot

| S

1[Option ID=10765]
2[Option ID=10766]
3[Option ID=10767]
4[Option ID=10768]

Sl. No.93
QBID:170093 )
Read the following passage and answer the questions

Education does not necessarily mean that your mind is stuffed with so many ideas in such a way that inner
conflicts crop up in your mind and your mind is unable to digest those ideas or concepts. Education which
helps us to build our life, make us a human being, build our character and bring about a harmony of ideas can
rightly be called education. If you have been able to digest only five ideas and have accordingly, been able to
build your life and character. then you are more educated than the person who has memorized a whole library.
An idea which sharpens your intelligence, should be imbibed and an idea which weakens you, should be
dmtincds 5 a— < > pe

Mg TR=0% & TG&L A= 160, 79, I991 & I Aoy

faren &1 =ere 77 74 2 6 g=R fGmm § UE wg0-€ 9 39 v oF A 9 oFde A ol
SR gear femm 3% Sfas et v o= | wn) e e @ =21 s e R w99
a9 U, TN TS F G AN =R 1 GEeed g U, 98l arend | {7 Eas 9y 2| At
qH T19 & Q1 & TR QIR SieH S FIRE Tfen F w9 &, 1 TR 1 39 SmE i
AT FE AYF 2, o 0F W TFAT T Fe8d I TI1 2| N hIg =R qHE T 791,
3 F U T Z01 UG I gEe 991G IHEHT TREANT HEAT 2T

Which idea should we imbibe?

1. An idea which ensures a job
2. An idea which weakens us
3. An idea which sharpens our intelligence
4. An idea which takes away our prestige
1)1
) 2
(3) 3
(4) 4
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(3) 3
(4) 4

1[Option ID=10769]
2[Option ID=10770]
3[Option ID=10771]
4[Option ID=10772]

Sl. No.94
QBID:170094

Read the following passage and answer the questions

Education does not necessarily mean that your mind is stuffed with so many ideas in such a way that inner
conflicts crop up in your mind and your mind is unable to digest those ideas or concepts. Education which
helps us to build our life, make us a human being, build our character and bring about a harmony of ideas can
rightly be called education. If you have been able to digest only five ideas and have accordingly. been able to
build your life and character, then you are more educated than the person who has memorized a whole library.
An 1dea which sharpens your intelligence, should be imbibed and an idea which weakens you, should be
%bmg\o%ed. r % N o % A e

Mg d TH=as &1 THed 219 50 70 9991 & 301 4190

fare & Foow 77 74 2 mq?ﬁ%—nrrmﬂn Eﬁrwﬁ?iﬂa—ﬂ—% g o
A e femm 3= ofew = v 7= | ﬁm 1—.. ‘F_?'T 29 9T e FE 9 uﬁ, 7
T S, TNF TeH S T AN IR F1 9HEEE o 99, 99 aread § WY1 2o Ay 2] 3t
qH 719 & 9TE1 = gEe aEgER Sied iR T afen w1 g A, 7 g e 5@ e i
AT TET Al 2, o7 wF W [EEeT T Foed W T q| ?ﬁ 15 fo=m qre! a9EE 79,
3T A

How are life and character built?

=

T3 1 EET 99U 3EE] THReIT FE 2|

F‘J

By labouring day and night
By memorizing books

By performing Tapasya

By assimilating the five ideas

bl o

(1) 1
(2) 2
3) 3
(4) 4
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(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10773]
2[Option ID=10774]

3[Option ID=10775]
4[Option ID=10776]

Sl. No.95
QBID:170095




Read the following passage and answer the questions

Education does not necessarily mean that your mind is stuffed with so many ideas in such a way that inner
conflicts crop up in your mind and your mind is unable to digest those ideas or concepts. Education which
helps us to build our life, make us a human being, build our character and bring about a harmony of ideas can
rightly be called education. If you have been able to digest only five ideas and have accordingly, been able to
build your life and character, then you are more educated than the person who has memorized a whole library.
An 1dea which sharpens your intelligence, should be imbibed and an idea which weakens you, should be
%banrd\mr!?d' r % I ¢ e

MHITRId T=E &l TG 714 [0 TU J991 & 30 Gll90

fore &1 woem 2z 791 2 5 grant fomm | Ut age-d 9 39 9w <@ 4 90 fF orda B &
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T T, AT oA o g AR [TTR & GEEEI L G, g4l 9read § RET SEa ang 2| 4t
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e 757 oS 2, o 1F [ weEed S Fesd = v 2| S S FER gEet e =,
3 21 U T Z01 UG F geel 9910, 3T TREAN ST 2T

Which idea should we abandon?

1. An idea which sharpens our intelligence
2. An idea which weakens us
3. An idea which causes inner conflict
4. An idea which causes disharmony of thoughts
1 1
(2) 2
3) 3
(4) 4

~ e ] ~
=H =9 9 o=m =1 7itegm w5 =nE ?
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3. f5ua fem d s At
4. T9ua fo=m H§ sgmse iy =
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=10777]
2[Option ID=10778]
3[Option ID=10779]
4[Option ID=10780]

Sl. No.96
QBID:170096
Read the following passage carefully and answer the following questions

There is no harm done in case one doesnot get success in the very first attempt; failure is quite natural. It is the
beauty of human life. What would life be without these failures? If there had not been any effort of changing
these failures into successes, there would not be any purpose of being born. Where would be any poetry of life
without the efforts of achieving success through failures? What is the harm of this failure or mistake? If
success is not achieved time and again, what harm is done? There 1z no harm done, cherish this ideal a
thousand times and even if one fails a thousand times one should try once again.

[ ol = LN o i
fRefefan Ti=ar & T5%t 5= 5T 70 gg=] & 39 A0

TET-TEe e 7 {1 e, W A3 71 T, 77 seren o e siee 2| 78 gHa-sieE
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What will be a suitable title of this passage?

1. Beauty of human life
2. Purpose of life
3. Path of success
4. Ideal
1) 1
(2) 2
3) 3
(4) 4

= g r o, P
F3H FG=EE T ITE NG 7] BT 7

1. HFE-S1a" & 9y

,_-|'|’\,ﬂa:-i T TFEH

[ 2]

3, gFCd] == 99
4, HATER

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=10781]

2[Option ID=10782]

3[Option ID=10783]
4[Option ID=10784]

Sl. No.97
QBID:170097 : .
Read the following passage carefully and answer the following questions

There is no harm done in case one doesnot get success in the very first attempt: failure is quite natural. It is the
beauty of human life. What would life be without these failures? If there had not been any effort of changing
these failures into successes, there would not be any purpose of being born. Where would be any poetry of life
without the efforts of achieving success through failures? What is the harm of this failure or mistake? If
success is not achieved time and again, what harm is done? There is no harm done, cherish this ideal a
thousand times and even if one fails a thousand times one should try once again.

~ -~ - T o
Refeifan 1= & 15% #1995y 70 gl & 39 Al

3
=

TEe-9E0 FERear 7 4 59, w3 = 7, 7= swwen @ ege wwfes 21 33 Fma-sem
%1 dived 2| 3 HAEEOAIHA] & [6E1 Has #4121 ? Al Jaq 5 39 AFHE] i G 6 6l =g
5 A1, A1 S U i w1 SI% GASE & A 6 S 369 9 B 0 A6 & wET w51, a7
T2 FEFAT A 9T T W 7 H 7 A aR-aR G 7 59, 9 6 3907 599 T 71 T8

e~

Ife. 99 9K 56 ATCT Sl YR R H I 95E 91 S HGES 5 FIH, q1 Tk G 15 g7
|

Why is failure necessary in life?

1. Because this is the objective of life
2. Because this is the ideal of life
3. Because it doesnot cause any harm
4. Because this is the beauty of life
(1) 1
(2) 2
(3) 3
(4) 4
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1 1
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3) 3
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(4) 4

1[Option ID=10785]
2[Option ID=10786]
3[Option ID=10787]
4[Option ID=10788]

Sl. No.98
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Read the following passage carefully and answer the following questions

There is no harm done in case one doesnot get success in the very first attempt; failure is quite natural. It is the
beauty of human life. What would life be without these failures? If there had not been any effort of changing
these failures into successes, there would not be any purpose of being born. Where would be any poetry of life
without the efforts of achieving success through failures? What is the harm of this failure or mistake? If
success is not achieved time and again, what harm is done? There iz no harm done, cherish this ideal a
thousand times and even if one fails a thousand times one should try once again.

~ ~ LN e T N
REToTRET Ti=ar, &1 75T =19 60 70 g9+ & 301 2|
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What 1s the poetry of life

P
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1 FgwEe 2 e, O uE 91 TR I

Effort
Failure
Ideal

Achieving success

ol Lt

11
) 2
(3) 3
(4) 4

[
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3
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=10789]
2[Option ID=10790]

3[Option ID=10791]
4[Option ID=10792]
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Read the following passage carefully and answer the following questions

There is no harm done in case one doesnot get success in the very first attempt: failure is quite natural. It is the
beauty of human life. What would life be without these failures? If there had not been any effort of changing
these failures into successes, there would not be any purpose of being born. Where would be any poetry of life
without the efforts of achieving success through failures? What is the harm of this failure or mistake? If
success is not achieved time and again, what harm is done? There iz no harm done, cherish this ideal a
thousand times and even if one fails a thousand times one should try once again.
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What should we do in case of repeated failure?

. Effort

. To take birth

. To cherish ideal

. Forgetting failure
1) 1

(2) 2

(3) 3

(4) 4

B R

TREIR FAHFHS 29 IR F] R AN ?

1. 93
2, FAEF-gT
3. SATER 4R
4, STHFTA F HET T
1) 1
) 2
(3) 3
4) 4

1[Option ID=10793]
2[Option ID=10794]
3[Option ID=10795]
4[Option ID=10796]

Sl. No.100
QBID:170100

Read the following passage carefully and answer the following questions

There is no harm done in case one doesnot get success in the very first attempt: failure is quite natural. It is the
beauty of human life. What would life be without these failures? If there had not been any effort of changing
these failures into successes, there would not be any purpose of being born. Where would be any poetry of life
without the efforts of achieving success through failures? What is the harm of this failure or mistake? If
success is not achieved time and again, what harm is done? There is no harm done, cherish this ideal a
thousand times and even if one fails a thousand times one should try once again.

S rn N ~ = r
Refeifan 1= % 1g% 1= By 1o ggEl & 39 Aifsu)

TE-9E0 FERear | 4 5, w3 w7 =, 9= swwent @t oga saifew 31 33 Fma-See
%1 died 2| 3 FAETAAIHA! & fom1 Sem w2 Fra? 4fe e # 39 Fenen | 9 S S =56

e & = = " . S~ =~ r ~ &
A TEAT, A SaT 9R S & % YA 3 9 F 97| 36 9 B 91 S99 w1 FOF FEl, Ea?
TR AGFAA AT T § B H 77 Al IR-aR gFaw 7 e, @ | 7 98 @ w1 16

7z @z IR 5@ A ¥R F SR Al FEw 90§ FEEa 2 9=, 9 F 9% R 9w

|
What should be the purpose of being born?

1. To cherish ideal in life
2. To try to achieve success through failures
3. Forgetting failures
4. To maintain the beauty of human life
(1) 1
) 2
3) 3
(4) 4
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(4) 4

1[Option ID=10797]
2[Option ID=10798]
3[Option ID=10799]
4[Option ID=10800]

Sl. No.101
QBID:5201001
The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F

and (ii) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Citv 9% Distribution of | Proportion of Car Models Sold
it Sold Cars P Q R
A 14.30% 7 7 4
B 16.20% 2 3 2
c 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
F 21.70% 3 2 3

4 a1t & B e A-F H A10fd BRI 1 W80 31 (1) TTa<id (%) TR iR (i) 37 991 18RI 3 dF
OIS P, Q 3R R &1 30T ST AT 8 | S X8 § 91 715 BRI &1 P G- 00,000 & | AIADT &
ST & MUR TR Y BT 3R ol |

9 (&1 5 BRI @I [Ga (%) e Y HTSl 1 96
P Q R
A [1430% 7 7 1
B [16.20% 2 5 B
C |18.40% 3 3 4
D [16.80% 1 3 B
E  [12.60% 2 2 1
F  |21.70% 3 2 5

What is the number of Model-Q cars sold in all cities together?

1. 31255
2.31355
3. 31455
4, 31555
(1) 1
(2) 2
3) 3
(4) 4

i 2Rl & P e disd Q 1 &4l 7Tg SRl & e 1 g 2

31255
31355
31455
31555

P

PR

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13201]
2[Option ID=13202]

3[Option ID=13203]
4[Option ID=13204]

Sl. No.102
QBID:5201002




The following table shows (i) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (11) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities iz 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Cire 9% Distribution of| Proportion of Car Models Sold
i Sold Cars P Q R
A 14 .30% 7 7 4
B 16.20% 2 5 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
E 21.70% 3 2 3

9 TICTPT & % e A-F J A0 PRI DI G871 D1 (i) Wa=id (%) faaworn 3R (i) 57 991 715 PRI 8 aF
TS P, Q SR R &1 UM ST AT § | 7 Y530 & 941 T8 BRI &1 Ha W& 90,000 § | Al &
3PS & YR TR YY & 3R alfol |

IR (&9 s BRI BT G (%) e TG ATl 1 96
P Q R
A [14.30% 7 7 4
B [16.20% 2 5 2
C |1840% 3 3 4
D  [16.80% 1 3 B
E  [12.60% 2 2 1
F  |21.70% 3 2 5

What is the difference between Model-P cars sold in city-D and city E ?

2184
2204
22904
. 2244
(1) 1
(2) 2
3) 3
(4) 4

I D IR UER E AT Al p ORI & S BT IR AR 2

N

2184
2204
. 2204
L2244
(1) 1
(2) 2
3) 3
(4) 4

Pk

e L

1[Option ID=13205]
2[Option ID=13206]
3[Option ID=13207]
4[Option ID=13208]

Sl. No.103
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The following table shows (i) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (11) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities iz 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Cire 9% Distribution of| Proportion of Car Models Sold

i Sold Cars P Q R

A 14 .30% 7 7 4

B 16.20% 2 5 2

C 18.40% 3 3 4

D 16.80% 4 3 2

E 12.60% 2 2 1

E 21.70% 3 2 3

9 TICTPT & % e A-F J A0 PRI DI G871 D1 (i) Wa=id (%) faaworn 3R (i) 57 991 715 PRI 8 aF
TS P, Q SR R &1 UM ST AT § | 7 Y530 & 941 T8 BRI &1 Ha W& 90,000 § | Al &
3PS & YR TR YY & 3R alfol |

j
:
%

e (9 TS BRI BT A (%)

14.30%
16.20%
18.40%
16.80%
12.60%
21.70%

o
=

|

= S T =
o [ e | on

2l e w1 KT =]
T = |t | = | 1= | 4=

Ll

2

The number of Model-P cars sold in City D is approximately % of the number of Model-R cars sold in
City A

. 145
185
83
2235
(1) 1
(2) 2
(3) 3
(4) 4

e D # 3! A18d p BRI &1 T WeR A H [9@! ATST R SRI &1 GE&T &1 T fdod= Ufa<rd (%) € 2

i S

. 145
. 185
.83
. 235
(1) 1
(2) 2
(3) 3
(4) 4

O O

1[Option ID=13209]
2[Option ID=13210]
3[Option ID=13211]
4[Option ID=13212]

Sl. No.104
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The following table shows (i) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (11) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities iz 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Cire 9% Distribution of| Proportion of Car Models Sold

i Sold Cars P Q R

A 14 .30% 7 7 4

B 16.20% 2 5 2

C 18.40% 3 3 4

D 16.80% 4 3 2

E 12.60% 2 2 1

E 21.70% 3 2 3

9 TICTPT & % e A-F J A0 PRI DI G871 D1 (i) Wa=id (%) faaworn 3R (i) 57 991 715 PRI 8 aF
TS P, Q SR R &1 UM ST AT § | 7 Y530 & 941 T8 BRI &1 Ha W& 90,000 § | Al &
3PS & YR TR YY & 3R alfol |

IR (&9 s BRI BT G (%) jﬁfﬂ{ 5 il 1R

7

14.30%
16.20%
18.40%
16.80%
12.60%

21.70%

Bd || o [[ b || b || -l

2l e w1 KT =]
b || o | e | e || o
T = |t | = | 1= | 4=

Ll

Number of cars sold in City F is approximately % more than the number of cars sold in City B

13
34
21
27.5

ol e

(1) 1
(2) 2
3) 3
(4) 4

TER F 1 [0 PRI 3 T UGB B a6 718 DRI &1 G961 ¥ WU [ha- Ji=d (%) i@ § 2

13
34
21
275

PR

R

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13213]
2[Option ID=13214]

3[Option ID=13215]
4[Option ID=13216]

Sl. No.105
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The following table shows (i) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (11) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities iz 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Cire 9% Distribution of| Proportion of Car Models Sold

i Sold Cars P Q R

A 14 .30% 7 7 4

B 16.20% 2 5 2

C 18.40% 3 3 4

D 16.80% 4 3 2

E 12.60% 2 2 1

E 21.70% 3 2 3

9 TICTPT & % e A-F J A0 PRI DI G871 D1 (i) Wa=id (%) faaworn 3R (i) 57 991 715 PRI 8 aF
TS P, Q SR R &1 UM ST AT § | 7 Y530 & 941 T8 BRI &1 Ha W& 90,000 § | Al &
3PS & YR TR YY & 3R alfol |

IR (&9 s BRI BT G (%) e TG ATl 1 96
P Q R
A [14.30% 7 7 4
B [16.20% 2 5 2
C |1840% 3 3 4
D  [16.80% 1 3 B
E  [12.60% 2 2 1
F  |21.70% 3 2 5

What is the ratio of the number of cars sold in City C to the number of Model-Q cars sold in City D?

19:5
27:8
23:7
33:10

B Rk

(1) 1
(2) 2
3) 3
(4) 4

6% C H 991 715, BRI © S R WX D A AIsd Q B (99! $RI &1 T & a1 & U |18 2

19:5
278
23:7
33:10

PR

R

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13217]
2[Option ID=13218]

3[Option ID=13219]
4[Option ID=13220]

Sl. No.106
QBID:5201006

Which of the following techniques is recommended for approaching and disciplining a student who may be
prone to explosive behaviour?

. Move swiftly and get as close to the misbehaving student as possible.
. Ensure that there are several witnesses to the confrontation.

. Be respectful, brief but assertive.

. Use a loud voice to establish power.

R o R

1 1
) 2
3) 3
(4) 4




%@ﬁﬁ;@%ﬂgﬁﬁﬁﬂ%ﬂuaﬁﬁﬁ@mﬁmm%mﬁeﬁﬁﬁmmﬁm
DI 2

1. T A UK STaeR @3- ard faemdf & gut dvya e g1 ot |
2. 9% GHiEd o2 o g1 g4 & 90g S wiai gl |
3. HFYdd, G&U T U= Teargded ard Py |
4. Ifad R S & o0 Sl SA1ars &1 WA &y |
(1) 1
) 2
(3) 3
(@) a

1[Option ID=13221]
2[Option ID=13222]
3[Option ID=13223]
4[Option ID=13224]

Sl. No.107
QBID:5201007

Ishita had been practicing her multiplication tables for weeks before her yearly test. She knew all her facts
completely. This type of knowledge that Ishita now has attained does not require attention and concentration.
This process is known as which one of the following ?

1. Flashbulb memory
2. Schema
3. Automaticity
4. Procedural memory
1)1
) 2
(3) 3
4) 4

SfRrar el arftier Tia & Uge g9 O UBTS! 1 10 B e ol | 98 IR 9 & O3 avg I I« ot
| ST 316 o7 USR &1 3 W a1 & 390 9 &1 3R $isd ©i- &1 adhdl 7ol sidl ¢ | 39
TpTH g E I I EI AT oA 2

1. PlY-ged HA
2. W
3. TEAUIDPRT

4. yicharare Ffd
1) 1
2) 2
(3) 3
(4) 4

1[Option ID=13225]
2[Option ID=13226]
3[Option ID=13227]
4[Option ID=13228]

Sl. No.108
QBID:5201008

Match List I with List IT :

LIST I (MOOCs Four Quadrant LIST II (Componen)
approach)
A |Quadrant - I [.  |e-content
B |Quadrant - IT II.  |Self-assessment
C.  |Quadrant - ITT II1.  |e-tutorial
D.  |Quadrant - IV IV.  |Web Resources

Choose the correct answer from the options given below :

1. A-IIL, B-IV, C-I, D-II
2. A-IV, B-I, C-III, D-II
3. A-IIL, B-I, C-IV, D-II
4. A-IV, B-II, C-III, D-I

11

(2) 2

(3) 3




(4) 4

el 11 gl 11 ¥ e Sifoy
asﬁl (E & IR UTG ATHTH) e 11 (9TH)
gl L [g-sidasg

B. [OiGI I [E-gd3i$d

C. [Orgm 1L [3-egeiitgd

D [urgrv V. [dd g
frafafed fomedl § 3 96l 3R &1 991 DI -

1. AL B-IV, C-I, D-II

2. A-IV, B-I, C-III, D-II

A-IIL, B-1, C-IV, D-II
A-TV, B-II, C-II1, D-I

R

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=13229]
2[Option ID=13230]

3[Option ID=13231]
4[Option ID=13232]

Sl. No.109
QBID:5201009

Match List T with List IT

LIST I (Behavioural Models) [LIST II (Developers / Redevelopers)
A |Mastery learning I.  |Carl Smith/Mary Smith
B amgi I Beryamin Bloom/James
Black
C. [Social learning III. |B.E. Skinner
D Programmed sc.hedule (task A \Albert Bandura/Carl
performance reinforcement) " |Thoresen/Wes Becker

Choose the correct answer from the options given below:

1. A-IV, B-I, C-II, D-III
2. AL, B-I, C-IV, D-III
3. A-II, B-IV, C-I, D-III
4. A-IV, B-I. C-IIL, D-II

(1) 1
) 2
(3) 3
4) 4
el 131 gl 11§ e sifory
T 1 (TIERTHD AI8eH) a_-‘ﬁmﬁmﬁfgaﬁarmmh
A |udor ST e YR Y
B. [sFEUu L [§91E <A e e
C [gmEeE SR . & uw. e
b |0 PEHH I @ | [3eEC SqRIPTe YRS
| [Fsred gAGlcidi BCEE
FrafaRad faeedl § 3 9El 3R &1 99 BITWY :
1. ATV, B-I, C-II, D-III
2. A-IL, B-I, C-IV, D-IIT
3. A-IL, B-IV, C-I, D-III
4. ATV, B-1, C-TI1, D-IT
(1) 1
) 2
(3) 3
4) 4

1[Option ID=13233]
2[Option ID=13234]




3[Option ID=13235]
4[Option ID=13236]

Sl. No.110
QBID:5201010

Given below are two statements :

Statement I : Sensory memory is that memory which helps an individual to recall something immediately
after having perceived it.

Statement IT : Semantic memory is that memory which helps in storing as well as retrieving a collection of
relationships between events or association of ideas.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect,
3. Statement I 1s correct but Statement II is incorrect.
4. Statement I 1s incorrect but Statement II is correct,

1 1

2) 2

(3) 3

(4) 4

A 27 e e o &

ba =

T 1 G TS g TG E A R s @ % Aie ewd & dcere 3T QA TR AR A Herdl
L T |

HUF 11 3 & T a7 T & o aRgeas 32ar Rl & S9g & 39 & §a4l & FUT & HESRUT
g=mfE & Ferar o §

SWIh BHAA D HTedld A, A1 6T 70 fahedl & § Ga 3UGH Il A1 I HITaT:
1. & 1307 naet @ €

o]

LB 13k et e E)

.U 1T, fera dAa I aea §

LV

4. B 19700 &, ofeha o= T8 &
(1) 1
() 2
(3) 3
4) 4
1[Option ID=13237]
2[Option ID=13238]

3[Option ID=13239]
4[Option ID=13240]

Sl. No.111
QBID:5201011

Given below are two statements :

Statement I : If we accept a hypothesis when it should be rejected. we say type I error has been made.
Statement IT : If we reject a hypothesis when it should be accepted. we say type II error has been made.
In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are true.
. Both Statement I and Statement IT are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement IT is true.
1) 1
(2) 2
(3) 3
(4) 4

R




a1 e mue few o &

Hua 1-afg o v Ut uraeheus @ TR ag € O sediea fohar Sem A@fRT a9 &H U% A9 Géd
¥ 5 sadt asu 1 g & o ¥

$YF 113 & T U UrdheU=T o IRAER d & i 5§ TeR fhar AT 91T, a9 &6 9% A
Tha ¢ o sEd asT I e F R ¥

SR A & 3elld A, A1 fgu 71w fGhedl & AW UG ITR I == Hiferg:
L. %= 13- e & €1

2. w13 et amcy B

3. U 19T & oifod oa 130T §l

4. B 13780cT &, difena AT T acT Bl
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13241]
2[Option ID=13242]

3[Option ID=13243]
4[Option ID=13244]

Sl. No.112
QBID:5201012

Which of the following softwares are used for checking plagiarism?

Turnitin
e-view
Scopus
Urlkund
Quetext

monwp

Choose the most appropriate answer from the options given below :

A.Band D only
.B. C and E only
.A.Dand E only
.C.D and E only
(1) 1
(2) 2
(3) 3
(4) 4

gifefde I8 &t offg &3 & fau B8 1 9 foo-feT aredat &1 wam o o »

A, THfeT
B. 300
C.

D. P
E $cHe

= feu e fasedl o ¥ gad Guged SR &1 99 DI

1.Had A, B3IRD
2. $GdAB,C 3RE
3. Had A, D ARE
4.%ad C,D IARE

1) 1

() 2

(3) 3

(4) 4

i




1[Option ID=13245]
2[Option ID=13246]
3[Option ID=13247]
4[Option ID=13248]

Sl. No.113
QBID:5201013
-

Which of the following methods are used to measure reliability in research?

Chain-referral sampling
Test-retest

Split-half

Inter-rater

Judgemental test

monwe

Choose the correct answer from the options given below :

A, Band C only
.A,Dand C only
.B. C and D only
.C.Dand E only
1 1
(2) 2
3) 3
(4) 4

ey W fayg-ad o1 araA & fag Fa o O & fafial o1 ugi fear s e 2
A. @ dafifa ufeag
B. SIE-G: O
c. favsars
D. siduR® Eeen)
E. Jou ofa s

e fqu T fasedl § T Il 3R ol 99+ Sifoiw:

1.PAd A, B, C
2. PAAA. D, C
3. %40 B,C.D
4.PadC, D, E

)1

() 2

(3) 3

(4) 4

L b

1[Option ID=13249]
2[Option ID=13250]
3[Option ID=13251]
4[Option ID=13252]

Sl. No.114
QBID:5201014

Given below are two statements :

Statement I : t-tests are appropriate only when the dependent variables being measured are continuous.
Statement IT : Chi-square statistic allows us to test hypotheses using both continuous and ordinal data.
In the light of the above statements, choose the most appropriate answer from the options given below

. Both Statement I and Statement II are true.
. Both Statement I and Statement IT are false,
. Statement I is true but Statement II 1s false.
. Statement I is false but Statement II is true,
(1) 1
(2) 2
3) 3
(4) 4

R




s
DY : t-0% Pad a4l JuGE g & 9d AU HiYd =R Fdd &l |

ﬁi{:%llzmmmﬁﬁ Fd SR PHYTD D! G DI WAN DR UTdhedT H ol B
Al g |

SRITd HUF & ATAlE H, 714 U 70 fawedi § T T8t SR &1 98- Sifoi:
1. PYTI R I ST I B
2. BT 1 AR 1 SHT ST

3. PYT 1 9 g, Afh- BYF 11 3T 5

4. YT AT B, Al FYUT 1 FA B
1) 1
(2) 2
(3) 3
4) 4
1[Option ID=13253]
2[Option ID=13254]

3[Option ID=13255]
4[Option ID=13256]

Sl. No.115

QBID:5201015

Given below are two statements :

Statement I : UGC-CARE list includes all the scopus. web of science. and MLA indexed journals.
Statement IT : Open Access Journals are predatory journals.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I 15 false but Statement II is true.

(1) 1
(2) 2
3) 3
(4) 4

TH A FFERTTE:
FUA 1 : oiI-HLRs gl J 9t 36109, 99 1P 95y R UTHUAU Jdies oHd IMaa e § |
HYA 11 : Gad AR el e SHa gid g |
SWRIGd PYA & il F, Al QU T fdeal & 9 96l SR $1 994 Do
1L PUFIR I §AE |
2. YR I AT AT |

3. PYT 1 A g, Al BU 11 T g

O

4. HYT1 HTI B, AP FYT 1 FA B
1) 1
(2) 2
(3) 3
4) 4
1[Option ID=13257]
2[Option ID=13258]

3[Option ID=13259]
4[Option ID=13260]

Sl. No.116
QBID:5201016




The people's preconceptions and frames of reference, and spreading one's own limited attitudes towards issues
and images result in:

. Stable identity

. Social harmony

. Positive public opinion
. Stereotypes

(1) 1

(2) 2

(3) 3

(4) 4

AR B gaurRonsi, Gev & SRl 3R gel 9 Sidul & ufd 37 -l Wi sitgiodl & JER @1
frafafea d g s ofom garg 2

i e b

1. RR ugaH

2. g iR

3, YHPRIED T99d

4. 3lgegdy (FiRdierzw)

1[Option ID=13261]
2[Option ID=13262]
3[Option ID=13263]
4[Option ID=13264]

Sl. No.117
QBID:5201017

In mass communication the audience is:

1. Identifiable
2. Relatively small
3. Heterogeneous
4. Homogeneous
(1) 1
(2) 2
(3) 3
(4) 4

o SR g Fefifea d 9 e ea g 0

. SifrRg
. 3[U&Thd DH T d
fawmd!
oyl

= b o~

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13265]
2[Option ID=13266]

3[Option ID=13267]
4[Option ID=13268]

Sl. No.118
QBID:5201018




The meanings of visual images depend much on:

Individual perception

Social perception

Political links

Economic benefits
Representational Connections.

monwp

Choose the correct answer from the options given below:

1. A, B and C only
2.B. Cand D only
3.C.Dand E only
4. A B and E only

1) 1

(2) 2

(3) 3

(4) 4

g fdal & ol g T 4 i Rl ik aa g 2

A. JOfdds 1y
B. A1 |1y
C. TeHiae 99 (feie)
D. 3w ygfaum
E. Wit d8y
= fou e fawedl © ¥ 98l 3T &1 904 Sifoi:

1.$ad A, B, C

1[Option ID=13269]
2[Option ID=13270]
3[Option ID=13271]
4[Option ID=13272]

Sl. No.119
QBID:5201019

Given below are two statements :

Statement I : The right to communicate can prompt the emergence of negative liberty though its positive
impact cannot be overlooked.

Statement IT : The hidden impact of free market place has diluted the concept of free speech to suit the
corporate ends.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement I are false.
3. Statement I is true but Statement II is false.
4, Statement I is false but Statement II is true,

1 1

2) 2

(3) 3

(4) 4




EIE AT AT 4

FHY 1 : U FT AUGR THRIES Waadl b 350 D URd T IHdl ¢ gl 396 IHRIAS GHG BT
3T g [T o ST § |

DY 11 : od STSIR RIS & USH YHIG - SRURE A&h1 b =Y dIeh W0 BT HTURUI Dl §abT PR
faars |
SWRIG $UA & elle F, i f3u Y fawedl & 9 961 SR &1 984 oo

1. BYF 1 R 11 g T

HYT I AR I GHT 3T | |

PUT IR, AT HYT 1 3T R |
BT T ., AP PYT I T & |
1) 1

(2) 2

(3) 3

(4) 4

FER U

1[Option ID=13273]
2[Option ID=13274]
3[Option ID=13275]
4[Option ID=13276]

Sl. No.120
QBID:5201020

Given below are two statements :

Statement I : The capacity of words need not have any connection with truth.

Statement IT : There is a human tendency to conceal facts and suppress the truth while communicating.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement IT is incorrect.
4. Statement I is incorrect but Statement II is correct.
(1) 1
(2) 2
3) 3
(4) 4

1 & PY= [T U & U SHTUSYT (Assertion A) P &0 H [ARGd © 1 GIRI 3P PRUI (Reason R) B
LU R:E

AUUSYT A el BT &HAT ST 0 & I1Y HIS T8 841 ATUH 81 ¢ |
SRUIR : YUY S GHY d2] &1 [UMFT 3R I I gaH A1 Wi © |
TWRIG DU P 3HTeiie 1, A= iU 7Y fadedi & I Jad Iugad IR &1 90 Bl |

A JRREA TG € SRR, AT TSI SUREN ¢ |

A JRREH T8I &, AfFT R, A DI Gl AT R § |
ATEIR IR TS TR R |

AGS eI g AfPTR TR S |

1) 1

(2) 2

3) 3

(4) 4

= L b =

1[Option ID=13277]
2[Option ID=13278]
3[Option ID=13279]
4[Option ID=13280]

SlI. No.121
QBID:5201021




Find out the third common term between the two given Arithmetic Progression (AP) series given as :
37 P1. 15 and 1, 6, 11, 16,

3

43

31
47

EIRES

= w

(1) 1

2) 2

(3) 3

(4) 4

feiferd & =g © &l 4 il IHraR 4uil (udh) & 9eg die 98 ug & Jid sifey
37, 4,48 o
IR

1,6,11,16 ........
31

43

51

47

g

& w

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13281]
2[Option ID=13282]

3[Option ID=13283]
4[Option ID=13284]

Sl. No.122
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A person can do a piece of work in 18 days. After working for 12 days, the person leaves and another person
joins and completes the remaining work in 8 days. In how many days this 2nd person can complete the whole
job?

20
24
22

18

ba —

FE Y]

(1) 1
(2) 2
3) 3
(4) 4

TS fad U o1 31 18 el T dx Idhal § | 12 371 7 o1 331 & 94Ta a8 ofda o1 &1 Bls a1
AR GER1 cAfdd BT DI HIAT YRY FRal g adl AU B &1 8 &7 T R PR A1 § | I8 R oafed 58 I
W@Wﬁtﬂﬁwﬁw%?

20
24
22

18

boi ke

FTR

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=13285]
2[Option ID=13286]

3[Option ID=13287]
4[Option ID=13288]

Sl. No.123
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The average salary of 25 workers in an office is Rs. 6,000 per month. If the salary of the manager is added, the
average becomes Rs. 6,200. What is the annual salary of the manager?

. 73,200
. 1,34.400
. 1,58.600
. 1,03.200
11
() 2
(3) 3
(4) 4

it raferd H HTRd 25 Y] ®1 3¥d a7 6000 T9Y UITHIE € | Tfa THH Ued B1 aa- Hi wis
fera Sireit & <1 78 SR 6200 TTU TSI § | Heite 1 M def a1l € 2

73,200
. 1,34,400
. 1,58,600
. 1,03,200
1) 1
(2) 2
3) 3
(4) 4

B

L

e L

1[Option ID=13289]
2[Option ID=13290]
3[Option ID=13291]
4[Option ID=13292]
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In what time a sum of money will double itself at the rate of 8% per annum simple interest?

. 10.5 years
. 12.5 years
. 9.5 years

. 11.5 years

da e b

(1) 1
(2) 2
(3) 3
(4) 4

BI5 U MR 8% Wy R &1 $1 &2 U da= 9Hg & g1 gl et 2

10599
1259
95Ty

11539

1) 1
(2) 2
3) 3
(4) 4

e La b

1[Option ID=13293]
2[Option ID=13294]
3[Option ID=13295]
4[Option ID=13296]
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QBID:5201025

A shopkeeper sold two articles at Rs. 12,000 each. He sold one article at a profit of 20% and the other one at a
loss of 20%. What is the net gain or loss to the shop keeper?

1. Aloss of Rs. 1000
2. A gain of Rs. 1000
3. Aloss of Rs. 3,000
4. Aloss of Rs. 1,500

1) 1

(2) 2

3) 3




(4) 4

fdl gPTeRA a1 a3t # ¥ Ud® &l 12,000 YT H &1 | S UP %] DI 20% & AIH TR €91 TG G&
TE] B 20% P 511 W ST | FPHER DI T a1y I 81 b g 2

. 1000 ¥UT &I B
. 1000 29U DT TH
. 3000 ¥UT &I B
. 1500 ¥9U &I 811

(1) 1
(2) 2
3) 3
(4) 4

[ S

[ ]

1[Option ID=13297]
2[Option ID=13298]
3[Option ID=13299]
4[Option ID=13300]
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Which informal fallacy is committed in the following argument - "Scientists have been trying for centuries to
disprove the claims of astrology, and none of them has ever succeeded. Therefore, we must conclude that
astrology's claims are true” ?

. Slippery slope

. Hasty Generalization

. Aurgumentum ad Ignorantian (appeal to ignorance)
. False Cause

(1) 1
(2) 2
(3) 3
(4) 4

Fafarad gfad O o9 91 TSRS db-aIy § - 9iedl 3 a91He wifay & ral & @fsd = &1 4ad
mﬁg%% 3R 39 ¥ Pl 1 Ff god 781 g3 © | 3ia: 58 Fpy MdTaH =ifet [ wifay & g/
T g

Traegad ea (Wl &)
Sfa=aRl Tl

e

1
2.
3. RIS gferd (ST 1 SH1E)
4. frreR
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=13301]

2[Option ID=13302]

3[Option ID=13303]
4[Option ID=13304]
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Which of the following propositions can be directly inferred from the statement - "All mammals are four-
legged animals?

. All animals are four-legged mammals.
. No four-legged mammals are animals.
. Some mammals are four-legged animals.
. All four legged animals are mammals.

i ad b2 =

(1) 1
(2) 2
3) 3
(4) 4




?ﬂﬁ@ﬁ gicRieerl o 9§ 5] 58 U= A Wald: SFHIHd a1 o Iadl § - il S=er Jmman ug]

1. 9t ] SO TR E |
2. %18 1t I TWAYR U el © |
3. TY YR ST Y E |
4. gfi T Ox] TWHYRT € |
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13305]
2[Option ID=13306]

3[Option ID=13307]
4[Option ID=13308]
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Which of the following statements is contrapositive to the following statement - "Some dogs are not
aggressive animals"?

. Some aggressive animals are not dogs.

. Some dogs are aggressive animals.

. Somne non-dogs are aggressive animals.

. Some non-aggressive animals are not non-dogs.
1) 1

(2) 2

(3) 3

(4) 4

FrafaRed eyl 6 9 BH a1 FafaRad $yA & widuRaldd § - 5 P ShHe U 6l 6 2

1.8 APHD T PA I ¢ |
2. 9T BT DD UYE |
3. P IR HHHS U |
4. TF TR-SRPHS UR] TR-Fd el § |
(1) 1
@ 2
3) 3
(4) 4

R

1[Option ID=13309]
2[Option ID=13310]
3[Option ID=13311]
4[Option ID=13312]
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Which of the following statements are contradictory to each other

ol

A. All objects are perishable.

B. Some objects are not perishable.
C. Some objects are perishable.

D. No objects are perishable.

Choose the most appropriate answer from the options given below:

. Aand D only
.B and D only
. C and D only
. A and C only
1)1
2) 2
(3) 3
(4) 4

O




fafafaa § T oH I Sy WER M6 § 2

A T TRGERE |
B.$8 G TR TR |
C.PTARUTRE |
D. BIE N T TR TR T |
9 feu e fasedl & 9 Had Suged SR &1 94 SIfg:

1.%Had A JRD

1[Option ID=13313]
2[Option ID=13314]
3[Option ID=13315]
4[Option ID=13316]
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To find my way about in a village I ask a resident for guidance. Which of the following instruments of
knowledge is used according to classical Indian school of Logic (Nyaya)

1. Perception (Pratyaksa)
2. Similarity (Upmana)
3. Inference (Anumana)
4. Verbal Testimony (sabda)
1) 1
(2) 2
3) 3
(4) 4

U 18 H 30 AR 1 e & fag 849 arieei= 8q ue ardart 3 9nf gt | IR YR Oy qd &
TR FEffad & 9 99 & fow F1u= &1 wan g man g 2

HE
SUHA

HTAH
sg

I S

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=13317]
2[Option ID=13318]

3[Option ID=13319]
4[Option ID=13320]
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Which of the following applications A-C are built on top of open-source digital platforms?

A. Google Earth
B. DIKSHA
C. MySQL

Choose the correct answer from the options given below.

1. A and B only
2. Aand C only
3.B and C only
4, A, Band C

(1)1
) 2




(3) 3
(4) 4

A-C 0@ 30 T Fafafad srwan (sl d 9 &H gad-did [Sfied wiew & 2N R FHfifa
BldE?

AT 3ef (Google Earth)
B. GI&T (DIKSHA)
C. TIs THUd (MySQL)

=i fau g famed! & X el SR o1 704 Bifo:

1.%Had A 3R B
2. Fad A AR C
3. Pad B AR C
4. A,B3RC

1

(2) 2

@3) 3

4) 4

1[Option ID=13321]
2[Option ID=13322]
3[Option ID=13323]
4[Option ID=13324]
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Which of the following statements (A-C) are correct with reference to Web 3.0?

A. Web 3.0 technology (theoretically) puts user data and web content into user's hands.

B. Centralization is a core tenet of Web 3.0

C. In Web 3.0 world, block-chain based networks. transactions and businesses will thrive in the coming
years.

Choose the correct answer from the options given below :

. Aand B only
A and C only
.Band C only
A, Band C

1) 1
(2) 2
(3) 3
(4) 4

39 3.0 & G 1 Fufafed s (A-0) T PH AT E 2

A. 99 3.0 Uit (Rrsidd:) waied] Siel Ud a4 [avgat] &1 yaiad] & Suds HRdl g |

B. HHIHU 9 3.0 BT ol FGId ¢ |

C. 99 3.0 TG ST a8 § sl = IR SYTRG "eadh § YoagR 3R o0aa™ Heil-Ja |
-4 fau e fa el & 9 Hel SR &1 99 Bifo:

| SR o

P SR

1[Option ID=13325]
2[Option ID=13326]
3[Option ID=13327]
4[Option ID=13328]
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Given below are two statements :
Statement I : The inventor of WWW 1s Bill Gates.
Statement IT : [Pv6 protocol defines an IP address of 128 bits.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I 1s false but Statement II is true.

1) 1
(2) 2
(3) 3
(4) 4

RIEEEREREERI
FY | : S S0 S (WWW) & MIHRS 9l Ted ¢ |
PUF 11 : AZUIEI6 (IPv6) WICTdId 120 fae & 5t Uod &I RN HRars |
SWRIGd PY & elle , = 34U Y faweal & 9 961 SR &1 984 Sifo:
1. YA AR I A T |
2. B AR I GHT S 5|

3. PYT 1 9 g, Afh- HY 11 ST 8

R e

4. DU 3T R, AfpTpUA 1 gT B
1) 1
) 2
(3) 3
(4) 4
1[Option ID=13329]
2[Option ID=13330]

3[Option ID=13331]
4[Option ID=13332]
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Consider the following Excel spreadsheet :

A B C D E F
1 3 5 1 2
2 2 3 3 2
3 4 5 7 2

What is the value of the formula = SUMIF(B1:B3, "=" & 3. C1:C3)

W
GO —1 LA Lo

1) 1
(2) 2
3) 3
(4) 4




FrafeRad vaed Ssgiic iR [daR Sifu -

A B C D E E
1 3 5 1 2
2 2 3 5 2
3 4 5 7 2

A : =SUMIF(B1:B3, ">" & 3, C1:C3) PIAH A § 2

b
-1

hpiEall
oo

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13333]
2[Option ID=13334]

3[Option ID=13335]
4[Option ID=13336]
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Given below are two statements :

Statement I : SWAYAM is a platform developed by Ministry of Education and AICTE to bridge the digital
divide among students.

Statement IT : UGC is a National coordinator of SWAYAM for non-technical Post Graduation education to
ensure that best quality content is produced and delivered.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement IT is true,
(1) 1
(2) 2
3) 3
(4) 4

EIE AT AT 4

FUA I : WY (SWAYAM) B & Hed fSRed Al &1 @1 &1 Ure- & g fRrey 345ey 3R
YSMIS ST (SHTAIRIY) GRT {3 d U WehH § |

BUATT - Gl TR-ab-11eb | WIdbITR (216 S [RTY WaH (SWAYAM) BT AP A0-00% g [orgd ghiyd
1 b b Hala Uiyl favgesg @1 Haiur iR yarah & & |

TRIGd FUA F e 1, = fu v fowet & T a8t S| &1 98- i
1. YT 1 3R 11 ST 9 &
 PYT T AR 11 T T B

3. PYT I G, AT PYT 11 3T © |

R R R

b

4. DU T, AP THY I TAR |
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=13337]
2[Option ID=13338]




3[Option ID=13339]
4[Option ID=13340]
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Arrange the following Earth's water compartments in increasing order of the amount of the water they hold.
A, Rivers and streams
B. Fresh lakes

C. Atmosphere
D. Ice and Snow

Choose the correct answer from the following options given below :

(4) 4

gl & oief SUGUS] Dl 3 gRIT YTRd e HHT & §¢d H H odfid HIfU |

A, ATl 3R TE-UR
B.H@T_aﬁaﬁsﬂﬁ

Sigj%m%n

-t feg e fasedt & 4 Jell SR @1 w1 wifor:

1[Option ID=13341]
2[Option ID=13342]
3[Option ID=13343]
4[Option ID=13344]
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Given below are two statements :

Statement : I Municipal solid waste includes Garbage and Rubbish.

Statement IT : Garbage consists of both combustible and non combustible materials.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement IT is true.

(1) 1

(2) 2

3) 3

(4) 4




Ha d P T &
BYA [ : TRUNIDT $ 3 TR § TSL-HIDE (M) 3R P6-Hars (o) WEfa g |
FUT 11 : PSI-BR@C § caemgia IR eaa-=ie gl aredt afifad g § |
SRIFd YA & Hai® 1, i G U [de el ¥ 9 98t 3 &1 994 o
1. HY AR GHI §A G |
2. FYA IR I G SN § |

3. PUTI TS, APT YT I 3T © |

4. T 3RAR, WA S TI T |
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=13345]
2[Option ID=13346]

3[Option ID=13347]
4[Option ID=13348]
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Given below are two statements :

Statement : I In many cases, both organisms and human infrastructure will not be able to move or adapt
quickly enough to changing climate.

Statement IT : Infectious diseases are likely to increase as a result of global warming.
In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement [ is true but Statement II is false.
. Statement I 1s false but Statement II is true.

1)1
(2) 2
(3) 3
(4) 4

SIECCAIERCURI IS
BUAT : 3 A 1 Sild SR HHa S[aU=-10 aiHl sead! gaarg & Ufd s S=e a1 sifgad o
& TRl B |
FUA 11 : e anri ([3y& a9 & URUMERE=Y ShH® I 8 gis &1 IUe g |
SURIE P & e o, i fau 71U faeedi o 3 Hel 3R &1 994 St
1L FUFISRI G 9a§ |
2. B AR I GHT ST |

3. PUTI TS, ApT YT I 3T © |

b2 =

e Taa

4. DU A 3, AP P T IR |
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13349]
2[Option ID=13350]

3[Option ID=13351]
4[Option ID=13352]
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Major contributor to carbon monoxide emissions in metropolitan areas of India is/are:

1. Industrial Sector
2. Domestic Sources
3. Transport Sector
4. Agriculture Sector

1) 1

() 2

3) 3

(4) 4

URT & HeFTRI &1 8 S1d- GiH1eags Sdvi 4 9@ arTeH fhaer g 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=13353]
2[Option ID=13354]

3[Option ID=13355]
4[Option ID=13356]
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : Although internal-combustion engines used in today's vehicles can be adapted to burn hydrogen,
hydrogen powered combustion engines probably are not the future of hydrogen fuelled vehicles.

Reason R : It is more efficient to convert hydrogen energy directly to electricity using fuel cells.
In the light of the above statements, choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A.
2. Both A and R are true but R is not the correct explanation of A.
3. Ais true but R is false.
4. A is false but R is true.
(1) 1
(2) 2
3) 3
4) 4
19 31 %Y 3T U §: T 3IDHYT (Assertion A) & ¥ H [AGd ¢ T GHI 3HP HRUI (Reason R) &
¥ H:

SHHTYA A : TR STSHT B TG H TG ATIRD-E5 S0l Bl BIggior &g+ & [0 Srqferd famar
ST T 8, TS SIo Ufdd-HTed S8 o GHad: Bl sior s¢- arg-l @l Yl gl g |

HRUIR : Tl YeH B IGUN DHd gU gIegior Sl bl wrd fagqd & Suiavor &1 P g& g |
SR HYH & el H, - 13U T [qped] T 4 96l 3wk &l 957 S |

ANRRITNTTEIRR AT TS I |

A RRIAGUE, AP R, A DI Tl ARSI Tal & |
ATIE AR AR |
ATITAGIRTIR |

1) 1

() 2

@) 3

(4) 4

o Lo b =

1[Option ID=13357]




2[Option ID=13358]
3[Option ID=13359]
4[Option ID=13360]
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While planning for higher education development in India in the twenty first century. the guiding principles
should be :

. Access

. Empathy

. Equity

. Accountability
. Quality

mHoowe

Choose the correct answer from the options given below :

.A,BandE only
.B.C,Dand E only
A, C,DandE only
.B.C, and D only
(1) 1

(2) 2

3) 3

(4) 4

SaPIgdl 9l 8 URd § 3= en & fae & e & 99 arfexff fgial J Fafatad g9 @nfgu:

A, 3fH
B. TRITYfd
qEfy

L R

2.
D. 3uelidd
E. T0ra

= fau e fasedl o ¥ gad GUgE SR 1 99 DI

1[Option ID=13361]
2[Option ID=13362]
3[Option ID=13363]
4[Option ID=13364]
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Which of the following ancient systems is focussed on laws of matter and force and of combination and
disintegration?

. Vaisesika

. Nirukta

. Chhanda

. Grihya Sutras

B

(1) 1
(2) 2
3) 3
(4) 4

frafafEa d Y o I uEe vsfa gerd 3R 99 9uT 9aieF ve fageH & Faai R efad g 2
1. agifeT
Fread

LIS B

-
4. T8

o




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13365]
2[Option ID=13366]

3[Option ID=13367]
4[Option ID=13368]
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According to NEP 2020, what percentage of learners of schools and higher education system shall have
exposure to vocational education by 2025,

. 40% of learners
. 50% of learners
35% learners
30% learners

ba =

LR

1) 1
(2) 2
3) 3
(4) 4

Tl 2020 & AR, Wl 3R 3= RI&1 UEld & S aisi 1 a1 wiawd ay 2025 75
SIS TR6T AL 8 2

. ST AT T 40%
. fferTEara @1 50%
St At &1 35%
STt &1 30%
1 1
() 2
3) 3
(4) 4

da L2 b2

1[Option ID=13369]
2[Option ID=13370]
3[Option ID=13371]
4[Option ID=13372]
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Which of the following are the characteristics of non-conventional learning ?

A. No fixed curriculum

B. Teacher-centred learning
C. Cost-effective

D. Require regular attendance

Choose the correct answer from the options given below:

. Aand D only
Aand C only
. B and C only
.B and D only
1 1
(2) 2
3) 3
(4) 4

B




Fafafad ¥ § TR-URuRe sy &1 [Aad SHE A e 2
A T (Af3d uregaal =gt

B. fRigih i e

C. TFTI-THTE!

D. Ffid Iulyfd &1 et g1

= GU 910 faehedl & TEL 30X BT =39 HITeil:

1. $ad ARD
2. Had A AR C
3, Padd B AR C
4. $IAB IRD

() 1

(2 2

(3) 3

(4) 4

1[Option ID=13373]

2[Option ID=13374]

3[Option ID=13375]
4[Option ID=13376]
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The Sanskrit-Sahitya parishat whose aim and objectives are to disseminate Sanskrit learning and research in
different branches of indological studies and to store and maintain the ancient Indian cultural and glories of
India was established in the year :

1906
1916

1964

1961

1) 1

) 2

(3) 3

) 4

I d-Hied-uRyg e 35 Wd HeTH 31 99K 3R YR4 faon datt seaae o fafie smasi
%@WHWWWH@%@@WW%%WWwaww,WWWﬁ

ot 2

R

1. 1906
2.1916
. 1964
. 1961
1) 1
(2) 2
(3) 3
(4) 4

e

1[Option ID=13377]
2[Option ID=13378]
3[Option ID=13379]
4[Option ID=13380]
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Read the following passage and answer the question :

What 1s it that tutors do. or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors. but their force 1s primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seck to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner 7 There are
paradoxes here.

Fafafaa Ty o ufed 3R Uy &1 39 S|

fiarg Riamdl 1 TeTadl H3- & 7Y e R P ¢ HUal 3¢ o1 PRAT J11gY 2 PS Al A eex
@1 BT &1 aUiH S & e uRIFaES, IR (HER) Sual YHGdl o E 0% [ U1 R g9dH1
BHEH 3R 54 TF TR & TN U T | 3HaR ogex & ¥4 H AR oIaeR & AFIGRH 8 5 Ul &l
HOAT I § U= IUff® ¥ 1§ 591 9d 88 U RP @9 §iH &I JaiaHl odl & | 56 day T qiea g o
TR GRI RI&D Y (S[CIg ) 94l § it Sryar U UrTaH SH1 & RTEH S aliid B Jdbdl
© | GGl SR IRFUES o1 UsaISaR S| B Jo P & Do 3R 376 3% U STE T U
o & 70 gwrad e ol 91d T © | 599 fad9Tarss (e 2ea &f af el © o f¥1are & witer
1 geTax e v § e iR Rrendf & v wfaurh 599 P ad eRar g | aui IS & 3
W@Eﬁaﬁﬁqﬁm&hm{4;aﬂ¢mi¢ﬁﬁa{ﬁaﬂanwﬁimﬂ|mﬁssﬂi’fﬂ-ﬂ
X1 910 U% ¢ [ 3 YA §HRI U8 ARG ol & & 1o &8 o1 Tl de-1 Jiiel 1Rg 59 day H A & i
& 1 S 115U | Al SFaTE egex =g Hd I g ot 3R 39+ fad@siiadl & oo faari &1
mmégﬁﬁ%ﬁﬂﬁwﬁ%mﬁ%ﬁ%%ﬁﬁﬁqﬁ@aﬂmﬂﬁwmﬁ%wﬁ@
faRremyra § |

What has been done to describe the role of online tutors?

. Add value to their guidance

. Provide them with a warning system

. Clarify their duties in fields other than education
. By adoption of certain metaphors
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Read the following passage and answer the question :

What 1s it that tutors do. or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors. but their force 1s primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seck to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner 7 There are
paradoxes here.
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What will inhibit student's contribution to tutorial discussions?

. Too much contribution of the tutor
. Disruption during tutorials

. Internal divisions

. Outside intervention
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Read the following passage and answer the question :

What 1s it that tutors do. or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors. but their force 1s primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seck to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner 7 There are
paradoxes here.
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The rhetoric of moderators has the intention to :

. Displace teachers from teaching

. Liberate students for their own learning
. Strengthen the authority of teachers

. Avoid critical pedagogy
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Read the following passage and answer the question :

What 1s it that tutors do. or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors. but their force 1s primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seck to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner 7 There are
paradoxes here.
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The discourse of participatory learning may result in:

. Abandonment of the online tutorial system
. Vigorous student protestation

. Emergence of dos and don'ts guidelines

. Supervisory role of students
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Read the following passage and answer the question :

What 1s it that tutors do. or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors. but their force 1s primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seck to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner 7 There are
paradoxes here.
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The passage is an analysis of:

1. The traditional educational system
2. The new assessment methodology
3. Indian vocational education
4, Paradoxes of online tutoring.
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